[ TR WY DA Cow ow Em M&w R v ey, :

.
+- ‘ /
N .
‘
-5 -
v
\

W LABORATORIES

(NASA-CR-IoZOMé) TOkYUE vi. INLUCED LCAD uF NE2-3(565
4286, Ak MP35M MUTIS ANL EOLTS wITEH

"ADMIUM Y F1LM, ANL CLIYL ALCOQHOL

. LJBRICAX.s Final keport (standard Pressed Uncias
Svoa2l Co.) 61 FE HC 204/MF AD1

CSCL 20K 63/39 28642

g !
4 ;
. ¥
|
, ¥

AT TR R

ARG ST
St ST W
’;‘ﬂ; =08 g

I

2
o




SPSLABORAHQRYREPORT

Corey Crispell
Test Engineer

November 14, 1978

REPORT NO. 5920

Torque vs. Induced Load of A-286,
and MP35N Nuts and Bolts with Cadmium,
Dry Film, and Cetyl Alcohol Lubricants

Request No. 8-1-7-EH-07694~AP29-B
NASA Contract No. NAS8~32525
Revised 4/27/756

8Pt LABORATORIES, Jenkintown, Pennsylvania

ST



{

>

Report No. 5920 - Revised 4,27/78

TABLE OF CONTENTS

List of Illustrations
List of Tables
Introduction
Purpose
Results
Recommendations
Test Components
Test Program
Test Procedures
Discussion of Results
Appendix

Nut Seating Torque Tables

Test Part Drawings

i1

114

iv

42
43-47

48-54



Report No. 5920

Figure

19
20
21
22
23
24
25
26
27
28

LIST OF

ILLUSTRATIONS

Description

NAS 1587 Washers
Photograph of Torque-Tension Machine & X-Y Recorder
Photograph of Test Set-up, Nut end

A286 Bolt, Nut Torque-Tension Curves:

1/4-28, Nut
1/4-28, Nut
1/4-28, Nut
5/16-24, Nut
5/16-24, Nut
5/16~24, Nut
3/8-24, Nut
3/8-74, Nut
3/8-24, Nut
1/2-20, Nut
1/2-20, Nut
1/2-20, Nut
5/8~18, MNut
5/8-18, Nut
5/8-18, Nut

MP35N

Lubricant
Lubiicant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant

Bolt, Nut

Cadmium Plate
Cadmium Plate
620c Dry Film
Cadmium Plate
Cadmium Plate
620c Dry Film
Cadmium Plate
Cadmiuvm Plate
620c Dry Film
Cadmium Plate
Cadmium Plate
620c Dry Film
Cadmium Plate
Cadmium Plate
620c Dry Film

Torque-Tension

& cetyl

& cetyl

& cetyl

& cetyl

& cetyl

Curves:

1/4-28, Nut
1/4-28, Nut
5/16-24, Nut
5/16-24, Nut
3/8-24, Nut
3/8-24, Nut
1/2-20, Nut
1/2-20, Nut
5/8-18, Nut
5/8-18, Nut

Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant
Lubricant

Cadmium Plate
620c Dry Film
Cadmium Plate
620c Dry Film
Cadmium Plate
620c Dry Film
Cadmium Plate
620c Dry Film
Cadmium Plate
620c Dry Film

111

alcohol

alcohol

alcohol

alcohol

alcohol

Page

O o

11
12
13
14
15
16
17
18
19
20
21
22
25
24
25

26
27
28
29
30
31
32
33
34
35

L e

P N

f




Report No. 5920

Table

II

III

Iv

VI

VII

LIST OF TABLES
Ultimate Tensile Strength of A286 Bolts
Ultimate Tensile Strength of MP35N Bolts

Bearing Stress for NAS 1587 Washers Seated on 7075-T6
Aluminum

Bearing Stress for A286 Bolts, and Nuts Seated on NAS 1587
Washers

Bearing Stress for MP35N Bolts, and Nuts Seated on NAS 1587
Washers

Recommended Torque to Induce 90,000 PSI for A-286 Bolts, and
Coefficients of Friction

Recommended Torque to Induce 90,000 PSI for MP35N Bolts, and
Coefficients of Friction

iv

38

38

39

40

41

PO

IS Yoo €Xer o - s A



w8 b s,

e

Report No. 5920

INTRODUCTION:

The torque-tension testing program recorded in this report is the result of
a requirement by NASA to obtaln data for specific joint design, utilizing
various combinations of bolt, nut and lubricants in typical structure of

the shuttle booster rocket. Data for the specific joint conditions were not
available and could not be extrapolated from existing data.

Further requirements of the structure performance criteria were to withstand
temperatures of 260°C (500°F) and to provide a nut lubricant which would be
compatible with sealants used in the joint. Cadmium plating and dry film
lubricant meeting the requirements of MIL-L-8937 were the lubricants
specified by NASA. 1In a follow-up effort, cadmium plating and cetyl alcohol
were further specified and tested.

The materials for the bolt and nut combinations were MP35N and A-286. These
materials demand a lubricant to be used to prevent galling of the thread
when tightened and also to help reduce the scatter of clamping load in
application.



o ot wepe

Report No. 5920

PURPOSE:

To determine the torque-tension relationship of:

1. EWB 0420 A286 bolts, 61170 cadmium plated nu s, 61170 cadmium plated
nuts plus cetyl alcohol, and 61170 nuts with 620c dry film lubricant.

2. MD1.1-4020 MP35N bolts, EWNM26 cadmium plated nuts, and EWNM 26 nuts
with 620c dry filwm lubricant.

RESULTS:

1. A286 bolts, and 61170 nuts,

1.1 The torque wvs. induced load curves for each size bolt and nut with
lubricant tested are presented in Figures 4 *“brough 18.

1.2 The recommended torque to induce 90,000 psi joint clamping stress
in the bolt threads was tabulated from each of the curves in 1.1.
(Table VI)
2. MP35N Bolts, and EWNM 26 nuts

2.1 The torque vs. induced load curves for each size bolt, and nut with
lubricant tested are presented in Figures 19 through 28.

2.2 The recommended torque to induce 90,000 PSI joint clamping stress in
the bolt threads was tabulated from each of the curves in 2.1. (Table VII)

RECOMMENDATIONS:

Aircraft manufacturers have long recognized the variables associated with
torque-tension relationship. Several of these companies are increasing their
joint reliability by requiring fastener manufacturers to provide the torque
to induce their specified bolt preload for each lot of nuts and bolts they
purchase.

Because this is a good engineering approach to better joint reliability, the
following recommendation 1is made:

For each new lot of A286, and MP35N bolts, and nuts purchased, the manufacturer
should be required to provide ten (10) torque vs. induced load curves. These
tests should be generated using the bolts, nuts, washers, and joint material

ag described in this report.



Report No. 5920

PROCEDURES :

1. Test Components

The following bolts, nuts, washers, and aluminum joint material were

used to accomplish the objectives of this program.

i 1.1 High strength aircraft bolts

.,

1.2.2

1.2.3

EWB-0420 A286

EWB-0420-4~34
EWB-0420~5-38
EWB-0420-6-40
EWB-0420-6-22
EWB-0420-8-44
EWB-0420-8-46
EWB-0420-10-26
EWB~0420-10-50

1.2 High strength aircraft nuts

A286

61170C~428
61170C-524
61170C~624
61170C~-820
61170C~1018

MD111-4020 MP35N

MP111-4020-0417
MD111-4020~0547
MD111-4020-0634
MD111-4020-0822
MD111-4020~1025

1.2.1 Cadmium plate per QQ-P-416 Type II, Class 3

MP35N

EWNM26-428
EWNM26~524
EWNM26-624
EWNM26-820
EWNM26-1018

Cadmium plate per QQ-P-416 Type II, Class 3, plus

Cetyl alcohol (5 oz./gal.)
A286

61170C-428
61170C-524
61170C-624
61170C-820
61170C-1018

620C dry film lubricant per MIL-L-8937

A286

61170M-428
61170M-524
61170M-624
61170M-829
61170M-1018

P3SN

EWNM26-428
EWNM26-524
EWNM26-624
EWNM26-620
EWNM26-1018



Report No. 5920

PROCEDURES :

1.

2.

(Continued)

Test Components (Continued)

1.3 Plain, and Countersunk Washers

1.3.1

1.3.2

NAS 1587 stainless steel washers (Fig. 1)

Plain Washers Countersunk Washers
NAS 1587-4 NAS 1587-4C

NAS 1587-5 NAS 1587-5C

NAS 1587-6 NAS 1587-6C

NAS 1587-8 NAS 1587-8C
A286 washers

5/8 inch plain, and countersunk washers were made to accommodate
the larger head and nut diameters of the 5/8 inch bolts, since
the diameter oi the NAS 1587 washer was not compatible with the
nuts tested. The A286 material was in the solution treated
condition, and the NAS 1587 "A" diameter was changed to 1 1/4
inches, and the '"D" thickress to 3/32 inches. (Figure 1)

1.4 7075-T6 Aluminum Joint Material

1.4.1 1/8 inch thick 7075-T6 aluminum was cut into 1 inch, and

1 1/4 inch wide by 10 inch long strips. 1/4, 5/16, and 3/8
inch holes were drilled on 1 inch centers in the 1 inch wide
strips, and 1/2, and 5/8 inch holes were drilled on 1 1/4 inch
centers in the 1 1/4 inch wide strips.

Test Program

2.1 Schedule of tests for each size bolt, nut, washer, and aluminum joint

material:
Number of Tests
Torque~ Bolt
Bolt Nut Nut Lubricant Tension Tenegile
A286 61170C Cadmiun Plate 5 3
A286 61170M 620c dry film 5
A286 61170C Cadmium Plate, 5 1%

& cetyl alcohol

* Where an additional lot of A286 bolts was procured to
determine the effects of cetyl alcohol on torque-tension
properties, one bolt was tensile tested to verify ultimate
tensile strength.

MP35N EWNM 26 Cadmium Plate 5 3
MP35N EWNM 26 620c dry film 5



Report No. 5920

3.

PROCEDURES :

Calibration

(Continued)

3.1 The torque, and pounds force load cells used in this test program
were calibrated in accordance with SPS Calibration Procedures
report CP-21 just prior to testing.

3.2 Tensile machines are verified monthly according to SPS Calibration
Procedures CP-1

Test Procedures

4,1 Ultimate Tensile Strength

4.2

4.1.1 The bolts outlined in 1.1, and the ccmpanion nuts outlined

in 1.2.1 were tested in the 60,000, and 120,000 pouads Tinius
Olsen tensile machines. Load versus elongation curves were
plotted on an X-Y recorder, and the proportional limit yield
strength was approximated at the maximum load within the
elastic limit.

Joint

4.2.1

Bearing Stress

Joint Material

4,2.1.1

.2 NAS 1587

4.2.2.1

4,2.2.2

The minimum load to cause the NAS 1587 washers to
begin brinelling into the 7075-T6 aluminum joint
material was determined by loading the joint in
1000 pound increments, and examining the aluminum
surface after each loading until the minimum load
where the washers brinelled into the aluminum was
determined. (Table III)

Washers

The minimum load to cause the bolt head of the A286,
and MP35N bolts to begin brinelling into the NAS
1597 countersunk washers was determined by loading
each bolt head against a washer in 1000 pound
increments, and examining the washer after each
loading until the minimum load to brinell the washer
was determined.

The minimum pounds to cause the 61170, and EWNM 26
nuts to brinell in the NAS 1587 plain washers wss
determined by loading each nut against a washer in
1000 pound increments, and examining the washer after
each loading until the minimum load to brinell tha
wvasher was determined. (Tables IV, and V)



o

B b

Report No. 5920

4.

PROCEDURES :

(Continued)

Test Procedures (Continued)

4.3 Torque Versus Induced Load

4.4

4.3.1 G.M, Torque-Tension Machine (Figures 2, and 3)

4.3.2

4.3.3

The 1/4 through 1/2 inch sizes were tested in the G.M.
Torque~Tension machine which has a 4,000 inch pounds maximum
torque and a 60,000 pounds maximum tension capability. The
rate of loading was controiled at 2 RPM.

SPS Torque-Tension Machine

The 5/8 inch A286 bolts were tested in the SPS Torque-Tension
machine which has a 10,000 inch pounds torque, and a 40,000
pounds maximum tension capability. The rate of loading

was controlled at 2 RI'M.

Tinius Olsen Torque Machine
The 5/8 MP35N bolts were tested in a 60,000 inch pound Tinius

Olsen torque machine, using a 60,000 pound tension load cell.
The rate of loading was 1/2 RPM, the maximum available speed.

Torque-Tension set up

4.4.1

4.4.2

Each bolt was assembled in the tension load cell with a

NaS 1587 countersunk washer under head, and with the 7075-T6
aluminum joint material, and a NAS 1587 plain washer under the
companion nut. (Figure 3).

The head was retained from turning, and torque was applied,
turning the nut against the plain washer. By this arrangement
the test bolt, nut, washers, and the aluminum joint material
were tested as a u-it.

Torque vs. Induced Load Curves

4.4.2.1 The torque-tension curves for each of the five bolts
tested were recorded by the torque-tension machine's
X-Y recorder. Then, data points from the five curves
were replotted on a single chart. The recommended
seating torque selected was that point where the
mean of the induced loads was 90,000 psi tensile stress
in the bolt threads.

Other data points can be selected from the torque-
tension curves by the same wethod.



Report No. 5920

DISCUSSION OF RESULTS:

When high strength fasteners such as 200 KSI A286, and 260 KST MP35N nut,
and bolt combinations are used to preload a joint consisting of low strength
NAS 1587 washers, and 7075-T6 aluminum joint material it is essential fo
include them in the torque-tension test joint.

The torque-tension joint study conducted revealed that the 7075-T6 aluminum
joint material, and the NAS 1587 washers maximum allowable bearing stress
was approximately 40,000 psi, occurring at about 100,000 psi bolt preload
for both the A286 and MP35N nuts, and bolts (Tables III, IV, and V), thereby
limiting the joint clamping load to 90,000 psi. Increased washer strength,
and area should be considered when greater bolt preload is required.

IO i, e+ 0 i ¢ A+



e ————— ———————————- Y W W

-

W“UIW or
NOARDS AND IN REFECY
OWNERS O TO PROSFRCTIVE \’l‘l‘g

BTA

INVESTIIATE THE
LIABILITY YO PAVENY

4

ECY MAYTER OF May

COMM TYELS wiLs

PATENTS TO THE SUBJ
NOY ASIURE ANy

»o

AlA AND (TS

NOARD DRAWINGS
LPFECTIVE NO LATIN
SWAL $MOWN HEREON

T a0 SHAry Steen . ter
VO THE LASY BAYE OF Asy

SUSL Y
" 0

Ll T Ll o L I TY L et i e e DT o S TY . W L R R R T e R P PR "o

ORiGH AL PIOS IS
COUNTERSUNK WASHER OF POOR QUALITY

FOR USE UNDER BOLT MEAD

~_ "\

ho-

-

PLAIN WASHER
FOR USE UMDER WUT

—y

A + B

NNy

|
T N

YLl

ZBA\..’:OCFMW NO BASKC PART NO. (LIGHT WASHER V2 T
(SEE NUTE () (SEE NOTE! ) SEE CODE )
TABLE 1
THREAD A B c b FLATNESS T —1

DASH SIZE *N‘RPJ A DIA TOLERANCE

NO, (REF ) DIA A MIN WMAX | MIN MAXIMUM

0] A e 190 439 198 192 1288 273 062 .007

3 190 , 469 . 198 .192 ¥/ //238/ A7/ v/ . 037 L 032
-4 750 531 . 260 382 . 544 . 334 . 007 N1
13 1P _393 L334 318 S406 | .39 | .8 L COY LUR

-® 375 . 087 .38 . 318 495 . 4% Nkl . OCT 134
=7 437 781 45 441 . 587 543 L0718 - 007 N1
- 306 87 L 81% . 504 §20 | .604 L 078 . 007 Y

- G 562 . 9b .879 . 568 . 687 . 687 L 078 N2 , 06
1t D) i) 64 K3 s 188 k) ) }

- 750 . 28¢ 17 .13 , 810 390 . 078 . 01 . 06

- 14 7S . 4 N Lk NIt T. T.01% 0% ) LY

- 1000 N1 N} X ! 130 " N LY

- 1128 N75 L 18¢ 1) .26 26% , 07 N N

-2 1250 2. 128 L 278 .26 .44 .42 4 . . 0®

@ cone DAS ~ NUMBER DESIGNATE: THREAD S1ZE.

ADD “C” AFTER DASH NUMBER TO DESICNATE COUNTEASUNK WASWER.

ADD “L” AFTEX DASH MNBER TO DESICNATE LIGNT VAS“ER, TWICKNESS OF 1/27.
ADD “A” BEFOREZ “3C" TO DESICNATE A COUNTERSINK WASMER SUITABLE FOR USE WITd .190

DIAMETIR ,INSIOM FATICUR BOLT (NECLSSARY FOR TWIS 312X

PART NUMBER EXAMYLE:  NAS 1587-4C
= '[L COUNTERSUNK WASHIR

W2SMER POR }/4 THD S128
b= BASIC PART NUMBER

NAS 1287-4
LICHT WASKER (.031 TuK)

WASHKR FOR 1/4 YWD SIZK
b S 1C PAZT MLIODER

MATERLAL: CORROS[ON RESLISTANT STEEL PFR MIL-5-6721 (TYPE 320 OR )47) OR PER QQ-$-763,

CLASS 321 Of M7, Ceiu A, (73,00 pai LTS Mia.)
PINISH: CLEAN AND PASSIVATED IN ACCORDANCT WITH MIL-5-3002.
wrees: 1. PART KUMBFE TO BE IKDENTED .010 MAX.

3. MASHER FACES SMALL BEZ PARALLIL WITHIM .002 INCH.

3. 6) RHR, MAX SURFALE ROUCHNESS AS PER MIL-STD-10A ON BUTM FACLS OF WASMER.
WASHIRS SMALL BE FRER FROM AL MAMGING DURRS AND SLIVERS WHICH MICNT

SUPERSEDAD BY TYFL "AN".

‘.
@ BECOME DISLODGED URBER USACE.
& TYPE “-3C" INACTIVE FPOR DESICK AFTLR )3 SEPT. 1973,

OMLY).

DIMEXSIONS [N IMCUES. UNLESS OTHLAMISE SPECIFIED, TOLERANCES 2 FLACE = +.0), ) PLACE =
2.010, AnCLES = )¢
Figure 1.
custopian: NATIONAL AEROSPACE STANDARLS COMMITTEL
PROCURLMENTY "L - ™
SPECIFICATION WASHER . PART
PLALIN AND CSK, 1200°%
NONE * 3 NAS 158/
Pobibohod ond Guribuied by v'a’-:'ud uao-‘: ':-u:u:. tne c«:muln. 1973, Aerospece Induswies Associdting of Ameries. ke,
Weiagies, D € 20003 8

] ","'“m -

Peb. 1363 REVISION (D) 15 Sept 1973

APPROVAL DATE



Report No. 5920

e

Srmre e ’
it P}"‘SE

BLACK AND WHITE PHOTOGRAPH

A4936R

Figure 2. G.M. Torque Tension machine and the Moseley 136A X-Y recorder.

oo oot e, 00 S Faire



Report Ne. 5920

‘

SLACK ALD VidliE PHOTOGRAPH

NS

-
A4937R

Figure 3. Photograph of the nut, plain washer, and aluminum joint
material in a slotted bushing designed to hold the
alunicvem strip from tuvning, Torque was applied from the

nut end.

i 10

s

POPRRNIRY - T SCT

Rleiais. S el mtiis




Report No. 5920
ORIGIAL FACS 0
OF POOR QUALITY

Torque vs. Induced Load
of
200 KSI 1/4-28 A-286 Bolts (0420-4-34)
tested with
NAS 1587-4, and ~4c Washers, 7075-T6 Al
Joint Material, and 61170 m'xt: LABORAYORIES
Nut Lubricant ~ Cadmium
Torque was applied to the nut at 2 RPM Chart No.: -
Date:
! ;JU,IH hHilﬂl T WIW‘HH IITflﬂll! HETTTH HIVIJTT HTWT”T HITIHH HII‘TIH_:
X - i =
LB e
4.5 1(10) [ ‘ 3
40 (M £ f
' - ! -
7 = | =
35.6  (8) E oo d gy 3
Pt | e
1 - l t H —
: | i 3
S - t . : 3
LR | | |
' - | j
6.7 1(6) | i[ | —
P | i / E
22.7 ar(8) b . - ; | 3
4 - T . | -]
5 ~F : ! ' 3
| S | | E
17.8 Si(a) St r | =
- 2: T 3
x = i 3
13.3 1(3) ZE ~ 3
' = ] 3
bk . ! =
8.9 () L — 3
: - 3
' g 3
645 Y E . 3
N = ' E
: :':_ — ”
' - | . ' I
' andmhmum bl obodibidebodndidbdd b 3¢
(inch pounde) 25 50 75 100 125 150 175 200 225 __ 250
Newton-metres 2.8 5.7 8.5 11.3 14 17 19.8 22.6 25.4 28.3
Figure 4.

i1

- o~

2t



Report No. 5920

A pn e My
Pag o . - '

OF PUGR QLAY

- )
( |
: Torque Vs. Indiceu Load i
. of
; 200 KS1 1/4-28 A-286 Bolts (0420-4-34)
i tested with |
NAS 1587-4 and -4C washers, 7075-T6 Al LABORATORIES
: Joint Material, and 61170 outs
' Nut Lubricant - Cadmium, and cetyl alcohol Chart No.: .
; Torque was applied to the nut at 2 RPM Date: o .
MM IR EAERRR AR R RS LA RRRIRER] h.iHIHIHTNEHTWTH:YJIiJTUlr HIRAN M REI ML
| l ‘! i \ | | | f ) | | | i
L ! ! | i i : 23
,‘ 4 ! 1 H | V l 3
6.5 (10d - . . : - S S TES. =
i ‘ | : : i | ‘ 3
- ! i | 1 =
L0 W9 = + { - ~
| | ; | 3
) ! { ]J ! : S
15.6  '(8) 2l G S S - |
' ! | T ~T ( g
} | j / | E
TR R S —— e
: | j 15
26.7 : [ I S .- A — —E
EEEELL % r T -
X i :
! | | / i
2.0 @S b 4o t =
§i i ! =
5. : 3
e N
i7.8 21(4) 3f--- R -
bof i ‘ ! 3
: §E | : 3
13.31(3) T 4 3
: 3 =
: ' { -
89 () f--- —_— 3
4.45 //i/’, E
! =
l -3 -
b biton bbb i JllAllAiL 111111111 111111111 1111[1111 uulds
(inch pounds) 75 0 ... 5. 100 125 . 150 .. 173 .. 200 a3 250
Newton-metres (2.8 5.7 8.5 11.3 14 17 19.8 22.6 25.4 28.3

Figure 3.

RN



Report No. 5920

:

OF FOUR Quiklie

—_
Torque vs. Induced Load
of
200 KSI 1/4-28 A286 Bclts (0420-4-34)
tested with
NAS 1587~4, and -4C Washers, 7075-T6 Al LABORATORIES
Joint Material, and 61170 nuts
Nut Lubricant - 620C dry film
Torque was applied to the nut at 2 RPM Chart No.:
Date: —_—
' T T MR T O I T T T
! o l T |ITPTT ] I WITW ] { ] Fﬂ | [ E
4.5 1(10) F— . — E
‘ - _i
bov E | =
40 .|(9) = - , =
. - | 3
L | f =
v i -—
356 (8) L o4 i =
: ' i 3
. ! f —
' | i =]
3.1 ) Lo 1 | s -
: - ] ! ! 3
+ ! 1 ! -3
' ! | =
; [ ] H j
5.7 W& - ~+ l —
O ! | -
X | | -
: i . ! e
2.2 @i (S) B p - =
gt - i =]
o1 —4
i L i —
k2 ~4 ) —
L L] =
€,.E =
178 = (4) % r 7 =
) = ; T3
" e E
3.3 003 &% - L f
: - b o
' :_" /'/ —E
- —
B9 w2 b /// =
w485 (1) b / -
' - // =
) 1l Hllhlli Alxlllﬂl llLLJth LHhLH HH]HU HH{HILHU TR SEINNIN NI ITINNIIR . i
(11 °h pounds) 25 | 0 ... 5. 100 . 125 ... 150 s L. 200 225 . 230
. Jwton-metres 2.8 5.7 8.5 11.3 14 17 19.8 22.6 25.4 28.3
Figure 6.
13



Report No. 5920

e

Torque ve. Tnduced Load
of
200 KSI 5/16-24 A-286 Bolts (0420-5-38)
Tesced with
NAS 1587-5, and ~5C Washers, 7075-T6 Al
Joint Material, and 61170 nute LABORATORIES
Nut Lubricant - Cadmium

Torque was applied to the nut at 2 RPM Chart No.:

Date: ___ __

»'HI]HHXUHII'HI![IHF{HH]HW}TTU HHEHH ZH'ITTHF HH’}THH HHIHIH IITTPHI]'HTT]'HL;

- ! | —

X i ! ! E

: I S +~-__ 4 | =

. o ! ! =

| | | | =

X ! ! E

! ! T 3

‘ ‘ | =

: ‘ f 3

71.2 1(16) . - _;4_,_,__T_.M_m =

! | l | 3

: L i ! ; ! 3

62.3 (14 L % i " :L =

: ! | i l 3

I ; . ! } 7

43.6 1(12) | : ! | E

53, ' 3. 4+ i ! -

' 1 i i f =

' - ! i ? ! -3

44.5 1(10) E» —_— J

a' ~F I ! %

! L ' H 1

& et ! ‘ 3

o st l -3

35.620(8) g, 4 3

&g ! 3

= S | | g

20.7 '(6) L % 4 £

C | ’ 3

:4) | 3

17.8 '( f--_ i } 3

: /Y/ E

8.9 ;(2) V/ -
! ol HMJAML bl adiadslal lnll.l“ NI HU‘HH lillhl“ HHIH.A lUll“l. 2

cinch pounds) (100) (200) (300) (400) (500) (600) (700) (BOO)  (900) (1000)

............................................................................ sccoem

Wewton-Metres) 11.3 22.6 33.9 45.2 56.5 67.8 79.1 90.4 101.7 113

Figure 7.

14



e v

Report No. 5920

Pl I NP

Lol

Torque vs. lnduced Load
of
200 KSI S/16~24 A286 Bolts (0420-5-36)
Tested with
| NAS 1587-5, and -5C Washers, 7075 T6 Al LABO
I Joint Material, and 61170 nuts RATORIES
Nut Lubricant - Cadmium, and cetyl alcohol

Torque was applied to the nut at 2 RPM Chart No.:
Date:
. iHIVﬂTUHqTHITHIUﬂTIHIVHIIHWIHITHH?HlIHWIHIIHWTHTPUTVHIIHIPH
: - f i .
: o !
44.5 (10) = [ L
CF 0 | /f E
L |
40 (9 [t:-— ‘:L —+ ‘
': - | x &=
X L J | I i 3
35.6 (8) T - . 3
: o | | =
: 3 { | , / I 3
[ L | -
SR | / I
e e , * =
: - | | E
' { -
: | E
26.7  i(6) 1 < p. |
3 - ! | E
: ' | | | / ¢ | =
2.2 (5) i___%_lk-, AT ¥ % :~
g ‘ | ;
o iy |
kL N [ g
1.8 Eie) B | /
S of ! {
b O: l i
* g: ! <
;' : 4

13.3  (3)
3 /

8.9 ,5(2) ' ; /

TYYrTY
\Y o
hunlwuslindun oo,

| i ]
o bdeedea il bonbodeadidi e bbb by m

(inch pounds) (50) (100)  (150)  (200) (250)  (300) (350) (400) __(450) _ (300)

----------------------------------------------------------

Newton-metres §,7 11.3 17 22.6 28.3 34 39.6 45.2 30.9 56.5

Figure 8.

15

F Y

[o——



,ﬂnnmu- N

Report No. 5920

RO
OF FOLA Qv
Torque vs. Induced Load
of |
200 KSI 5/16-24 A286 Bolts (0420-5-38)
Tested with
NAS 1587-5 and -5C Washers, 7075-T6 Al LABORATORIES
Joint Material, and 61170 Nuts
Nut Lubricant - 620C dry film
Torque was applied to the nut at 2 RPM Chart No.: !
Date: j
. ﬂﬂPHIHHVHIHHFHIHHPHIHHUUIHHPWIHHPHTHHPHIHHPHIHHHH;
: r__— i ] ._E
wes o) E 1 - // =
- b / E
ORI C ) S 4# ,!( 3
. = ! i 4 3
: = i //// 3
3.6 (8 bFo_ 4 [ =
! F T 3
: g | =
: - , ‘ 3
SLL () e - + =
. - ; \ -
i | | | i E
: | ] " i E
26,7 i(6) | S 1 =
; | |
: ! . / j =
: i ; 3
2.2 (%) | . 1 i 1 =
2 A ! T 1 r//’ . ’ E
G o} ) ! i B
O cl i 1 ! "3
3‘1 5; ; ’ =
i7.8 ¥4y & ’ 3
<, E | E
& | =
' oS i E
13.3 (%) % 3
8.9 1(2) =
! - 3
6.45 (1) :.-A’ﬁﬂy 3
: ' ‘ : EE
lHlesilen.HnulﬂlnllnlhlillﬁlhjllIUJhiH JTITITY iUJth ULJJJH udenT -
tinch pounds) (30) __ (100) __(150) __(200) __(250) __(300) (350) __(400) __(430)_ _ (500)
Newton-metres 5.7 11.3 17 22.6 28.3 3 39.6  45.2 50.9 56.5
Figure 9.
16



¢

DNCPVLE L W o S e\

. A"

ol L

Ay N G Lt

-
|

Torque vs. Induced Load
of
200 KSI 3/8-24 A286 Bolts (0420-6-22)
Tested with
NAS 1587-6, and -6C Washers, 7075-T6 Al LABORATORIES
Joint Material, and 61170 nuts
Nut Lubricant - Cadmium Chart No.: __
Torque was applied to the nut at 2 RPM Date:
. AN R L L L LA A AR S R LS AL LA RN
A -t ) U A A A A AL U R
: = 3
: 2 =
E = 3
L F IE
! = =
13 [— -
' - =
: ol A
' § 3
71.2 1(16) | 3
: 3 / 3
: = 3
62.3 1(14) & -
' o p
' F / 3
1 —d
53.4 :(12) / 3
4.5 1(10) // / 5
s SE E
- E
» [ =
35.6:‘;(8) §'C 7 / o
= 8E- 3
a0 -l p
26.7 1(6) E =
5 - r ’ 3
: = -3
7.8 (@) E | =
! . e
8.9 :(2) [ £ =
! 2 =
' E— —-.-
0 e O O O P A M
Foalud oo boedehoedon foebo oo oo b d w3

; (inch pounds) (100

Newton-Metres) 11.3

)___(200)  (300) (A00) (500) (600)
22.6 33.9 45.2 36.3 67.8

17

(700) _ (800) _ (300) (1000)

79.1 90.4 101.7 113

Figure 10.



DERVL L N

Y AV]

Torque ve. Induced Load
of
200 KSI 3/8~24 A286 Bolts (0420-6-40)
Tested with

NAS 1587-6, and -6C washers, 7075-T6 Al
Joint Material, and 61170 nuts
Nut Lubricant - Cadmium, and cetyl alcohol
Torque was applied to the nut at 2 RPM

F

}!lll WTTII lﬂqﬂll Hlll”ﬁ nIH]HlI IIII]TTTI HHIIWI

T‘.'ﬂIITIT HTI]UTI T
t

M

— -

1 “JIIHI' “lxhlll Llll!llll 1]11[11“ llthlJl Ull!ll

b
7.2 ius) E
GLJE(M) %ﬂ
53.4 ;1n
4.5 ;10) _

¢

I

[l
!
i

(8)

(1000 pounds)

4

26.7 }(6)

AARRRARRRASSAND LARMARARE AR RS AR

|

cecemcmcancncecanceee--..Kilovevtous

ltllll hlihlll llxll,'lll UHLJ“ 1

TR RIS N S
8.9 ') E——V]
1144 UJM“ h“hﬂl Hllll“l HU[HU “lLl“l lullhll ““]“ll “lllll‘l l“lll“is
(inch pounds) (100)  (200) (300) (400) (500 (600) (000) (900) (1000)

Newton-Metres)

11.3

P L L L L L X o R T e X T TP

22.6 3.9 43.2 56.5 67.3

18

90.4 101.7

Figure 11.

LRI T IR T I T L L PR T Y Y Y Y v

113



Report No. 5920

o

iy

Rt

Torque va. Induced Load
of
200 KSI 3/8-24 A236 Bolts (0420-6-22)
Tested with
NAS 1587-6, and -6C Washers, 7075-T6 Al LABORATORIES
Joint Material, and 61170 nuts
Nut Lubricant - 620C dry film Chart No. :
Torque was applied to the nut at 2 RPM Date:
\ ;ITT]TTTT TTT}IIII TIIIIIIFI llll,llll IIIIIFTTI lI]lITI ML TTI’TTII IITI[III] TS
L} i -y
: =
! - -3
; g E
! o
; 3 =
PE E
! - 3
; g =
: - e
1.2 1(16)  E - =
.‘ - =
62.3 1(16) L =
: 3
! 1 3
3.6 1(12) b 3
: - 3
o ! :
46,5 1(10) | =
- af g
§ B =
35.6%(8) 43 =
& 3 =
- - =
v gff' 3
[ by & —
26.7 1(6) - -
P E
17.8 '(&) L 3
; 2 _ =
: 3 3
8.9 !(2) s 3
L] - :
] o —
+ r —
' 7, : ' 3:
' .11111;1 lllli(i}i v alnoading aabialin oy 111]1111 1111111;1,1111[111. -
(600) (700) (800) (9%00) (1000)

(imh pounds) (100) (200) (300) (400) (500)

remsemwe L T R L Lo ) P

Newton-Metres) 11.3 22,6 33.9 45.2 56.5

19

67.8 1.1 $0.4

10.7 113

Figure 12.



—— e e = .

Report No. 5920

P

ST INL w2
CF kol QUF\L\T{

Torjue ve. Induced Load
of
200 KS1 1/2-20 A286 Bolts (0420-8-44)
Tested with

NAS 1587-8, and -8C Washers, 7075-T6 Al
Joint Material, and 61170 nuts
Nut Lubricant - Cadmium
Torque was applied to the nut rt 2 RPM

Chart Ne.:
Date:

HH[IUT HH]HH IHI]HW UUITIU ””IIHI IIHEIIII

Hlllﬂﬂ UITITTU HHITH'

s

T
N
#

devadnl |
cid ittt gl llUl}Ll gt llllJ

'
i

-/

/

/

bbbl

Illll ll‘llllll uuluu Hlll“ll llllln’ll iljllilil

o1l
161-9%

lllllllll Uill“ll lllll“

' »_nIml
222.6 : (50) [
00 @) |

: 3
177.9: (40) £
155.7 1 (35)

\ -

: 3
133.4 1(36) oo
112w (25) o

1) cF

c )

5 -

& -

90 2! (20) §
-l -4}
it ~E

66.7 ,(15) E

: -

‘: s
.5 1 (10)

: 3

1 -

! -
22.2 (%) &

H -

' =

L} -

: -

y A

(inch pounds)
(Newton-metres)

LA 000 L B000) (4000) (3000)
113 226 339 432 565
Figure 13.
20



.

Report No. 5920

(’ri..'i LI ~c e

CF FUUR GUALITY

—
Torque ve. Iladuced Lcad
of
200 KSI ./2-20 A286 Bolts (0420-8-46)
Tested with
NAS 1587-8, and -8C washers, 7075-T6 Al LADORATORsS
Joint Material, and 61170 nuts
Nut Lubricant - Cadmium und cetyl alcohol Chart Me.:
Torque was applied te the nut at 2 RPM 0 .
iHIlHII HWTIYTH IHIPHI IHIPTH IIHIHH Illﬂl RLLAL HUllll ﬂlIlnl T
' = i =
: - E
222.4 1 (50) F =
E 3 3
200 1 (45) £ + 3
L E E
: = -3
177.9 ' (40) L =
X 3 =
L} t: _ ——:
155.7:(3%) | 3
, . 3
' 3 -
133.4 ';(30) } . =
b E
112w (25) 3f =
A - 3
2 - -3
¢ - 3
90 3H2°)§’ -
wh e i g
» - =
. - 3
66.7 (13) =
i S =
. - P
: = -3
) - =
44.5 ;(10) 11 =
' o / E
1] "__ -
) - l -
13 ;: p
22.2 (%) E 3
) = 3
h - —
; — i | 33
¢ uhm lllllllll liHlHH uuhu ulllll“ IIHIHH Hlllllll uuluu Ullatiti llﬂll“? s
(ingch pounds) (1000) (2000} (3000) (4000) (5000)
(Nevton-metres) 113 26 33 432 365

21

Fig-ve 14,




I S o+ NS oo AORBrs <t

Report No. 5920

Torque vs. Induced Load
of
200 KST 1/2-20 A286 Bolts (0420-8-44)
Tested with LABORATORIES
NAS 1587-8, and -8C Washars, 7075-T6 Al
Joint Material, and 61170 nuts
Nut Lubricant - 620C dry fila ChartMo.: |
Torque was applied to the nut at 2 RPN Daste: —
A HII[HH l”llll’ﬂ TTH]IWT IIUIHU ”YFHI HII'HII HHIHII IHTITU THTTH S
E
21.4 . (50) | — =
; - =
) E; _—:':
200 [ (s) — 3
177.9  (40) E E
' S 3
. - i -3
' H l 3
155.7 1 (38) L i = =
: i y 3
1'3.4 : (30) } =
: 1 | 3
: ; f -3
' -~ ' =
112w (25) 9 —— | L 3
c 1B p
[-1] R -
L dd - i —
» - 1 —]
& - | , =
u Si20) & -
by o =
- /l =
6.7 ,(13) | ]
: 3 ,’ 3
' - I
: C “//r 3
“.5 ;100 b | >
: 2 3
: - -
1] - -
H < 3
22.2 19 ‘71 E
H = =
' L —
' - - %
‘ Ll t | | | l | I l 3:
A T L e A R T T T T T T T T T TR T |
(ingh pownds) (1000) (2000) (3000) (4000) (5000)
(Nevton-metres) 113 226 k32 ) 432 36

Figure 13.



Report No. %5920

Torque vs. Induced Load
of
200 KSI 5/8-18 A286 Bolts (0420-10-50)
Tested with
A286 plain, and countersunk washers, 7075-T6 Al LABORATORIES
Joint Matertal, and 61170 nuts
Nut Lubricant - Cadmiua Chart No.:
Torque was applied to the nut of 1/2 RPM Date:
T O e e THTIIIU HHIHU ””l”” HH‘H” ””f”ll T T
' = ! I ! =
222.4 1 (50) E- =
' - -
5 = 3
L ’-: —
200 | (45) E -
L F 3
177.9 1 (40) £ =
: = 3
155.7 1 (35) £ =
L =
133.6 1 30) [ =
: . 3
. =
12 i (25) * =
2 B 3
. 3
30 80 S 3
it [/ o -
» S o 3
B =
66.7 ;(15) E /§ =
] - b
: = / =
.5 1(10) k. y =
) > -y
] - v
LB -3
o E '-:
22.2 :( S o E
L E 3.
] - H : -
' 1l un]uu ouuu HllllLU hHJlLU llllllul lllllll“ lllll“l uuluu L“Jhll. :
(ingh pounds) (1000) (2000) (3000) (4000) (5000)
(Newton-me:res) 113 226 339 432 365
Figure 16.
23

i e boat e



Report No. 5920

- en e
et N T

ohad
OF FLLR QUHLIT‘{

—
Torque vs. Induced Load
of
200 KSI 5/8-18 A286 Bolts (9420-10-50)
Tested with LABORATORIES
A286 Plain, and countersunk washers, 7075-T6 Al
Joint Material, and 61170 nuts
Nut Lubricant - Cadmium, and cetyl alcohol Chart No.:
Torque was applied to the nut at 1/2 RPM Date:
) *;'_IHIIHI HUIUTT Illllllll HHIHII Hllllnl HH!HH Hlllllll HHIHH IHTITTﬂ ”WFH__
222.6 1§ (50) | =
200 () E =
o | 1 =
; = =
177.9 1 (40) E / 0// 3
: a / / =
155.7 1 (35) | =
E & / €
133.4 1 (30) |- / 3
- 4 j/ 3
112 § (25) EE =
a i,._ l 3
» - - ——
-4 - ! =
90 & (20) §'— P =
-l
=% | /’ E
66.7 1(15) E —3
; = =
' = -3
4 o ho
4.5 1(10) L / =
' - / -
: - / 3
] - —
e
22.2 :( ) - =
It - =3
Lk —3:
' - : &
! _mlnn T llHlll}l u_n_,‘luu unlnn unlun uuluu uulun TNk
(ingh pourds) (1000) (2000) (3000) (4000) (5000)
(Newton-metres) 113 226 339 452 365
Figure 17.

24




AP A

Keport No. 5920

S

. .
I bin

P

—~

P
\

y
“

Torque ve. Induced Load
of

200 KSI 5/8-18 A286 Bolts (0420-10-26)

Tested with
A286 Plain, and countersunk was
7075-T6 Ai Joint Material, and
Nut Lubricant - 620C dry film

hers,
61170 nuts

Torque was applied to the nut at 1/2 RPM

LASORALORIES

Chart No.:
Date:

1 HH'HH HH]HH IHI]HH H”lllli

HHTHH Wﬂ]]

ﬂllllll HHIIHT HHPH__'_:

222.4 ' (50)

T T

200 (45)

!'I]le IRAA

'

155.7

(35)

T

t

177.9 ! (40)

]Jlll HHIIUI llillLlll nuluu l]ll!llll lllllllu HHIUH HHJIUI lllllllll Illllllll Hll]l

1336 130) bt / _z/
112 (25 gE—— / /
& 3F /
3 &
& of /
90 2i(20) SE
i) -
% %k
: a2 /
66.7 ;(15) L
LE 4
4.5 i(10) £ /
ok /
22.2 () -
' £l ababoabnd o oolebabpadealuoloolpotnalnd ®
(inch pounds) (1000) (2000) (3000) (4000) (5000)
(Newton-metres) 113 226 33 452 365
Figure 18.

25

-



rh b s L= .- R .4 -,;;...\.

Report No. 5920

-
Lo

OR:,‘!’:#". | SRR !s

OF POLR QUALITY

Torque vs. Induced Load
of
260 KSI 1/64-28 MP3SN Bolts (MD111-4020-0417)
Tested with
NAS 1587-4, and -4C Washers 7075-T6 Al LABORATORISS
Joint Material, and EWNM 26 nuts
Nut Lubricant - Cadmium

Torque was applied to the nut at 2 aPM Ohart No.:
Date: _
; Al U LR U I W AL U U R U L B s
w.s o) E
. - g
L CU =S _:j
35.6 (8) [ - j 3
M =
; - / + e
26.7 «6) | / o aa =
S / E
AR & 3
£ -
g 3
e o =
17.8 E:(‘o) V4 3
Z / =
. 3
13.3 (3 / =
: =
8.9 1(2) 3
645 () e 3
' 2 3
N ¢ : EE
wndodwdonbebobdepbbadwdd ool a3
(inch pounds) (50) __ (100) _ (130) __(200) _ (250) _ (300) (330) __(400) _ (430) __(300)
Newton-metres 3.7 1.3 17 2.6 28.3 3% 39.6 45.2 50.9 %.S
Figure 19.

26

e e e e o



R

.

: AL UL U L M ] U I L LGP (UL L

: = -

4.5 10 E =
0 W9 E =
3.6 (8) [ - ;( =
. E- 3

L1080 URTC N 3
6.7 (&) L 3
22 W) =
g = 3

. // .

17.8 E@ & / =

13.

Report No. 5920

Torque vs. Induced Load
of
260 KSI 1/4-28 MP35N Bolts (MD111-4020-0417)
Tested with
NAS1587-4, and ~4C Washers, 7075-T6 Al
Joint Material, and FVNM-26 nuts
! Nut Lubricant - 620C dry Ii...
Torque was applied to the nut at 2 RPM

LABORATORIES

Chart No.:
Distw:

w
Kil
oso-il
Ao
(1000 pounds)
181 A1 ARERARAM
N

lILlIl lllllllll lllllllll lllll

141.9

59 W2 |
b Y
wos i) F
ATTTUIYY TYYYY FOVTN FYOTA(YIVEFYSTN FEVYY VTS YUY (YO QVRYY FRVTY FYVYY YIVE VYT CYOYY YY) YR O
(inch pounds) (30) ___(100) __(130) __(200) _ (230) __(300) (330) _ (400) _ (430) __ (300)
Newton-metres 8,7 1.3 17 22,6 28,3 34 39.6 452 509 56.5

27

Figure 20.

ret s

PPERSIE SUSLIY PR R Y




CEPR S, 1 5NN

-

“d

C

. T
) - ]
] =
; =
' -
] o
' =3
‘ —
; =
o
71.2 (16) E
O
62.3 s(lb) é
5 -
53.4 4(12) |
' C
' -
' -
: -
46.5 1(10) |-
- +F
= -
g EF
35.6 §(8) 2k
o -
2 -
: EF
26.7 1(6) £
= E
. F
17.8 (& E
S g
: -
¢ -
8.9 1(2) |
PE
' —
L] -
' 3

Report No. 5920

OPIGINAL PACE 1S

OfF POOR

QUA'..ITY

Torque vs. Induced Load

of

260 KSI 5/16~24 MP35N Bolts (MD111-4020-0547)

Tested with
NAS 1587-5, and -5C Washers, 7075-T6 Al
Joint Material, and EWNM 26 nuts

Nut Lubricant - Cadmium

Torque was applied to the nut at 2 RPM

LABORATORIES

Chart No.:
Dsate:

ll]llll HIIIHH HH'HII IIHIIIII llﬂlllll IIHIHTI HHIHH ﬂ”ll”] HII]

HLK

I

lllll lllllll

e

|~

i

Al lllllllll lllllllll nulun HHIHH “Hi““ UUIH“ lllllluj JIUIUH Hlll

wnladuwd i Hldlulle}h\y*u‘hu‘:hkhln nobuidedundug

ul

1.

s

(inch pounds) (100) (200) (300) (400) (500) (600)

Newton-Metres) 11.3

22.6 33.9

28

45,2 36.5 62.8

(700) _ (800)  (900) (1000)

7.1 90.4 101.7

Figure 21.

113

i

Fa arkan 1

B et bk w e R e A 4 a e m

b S s

st aritn st




Report No.

5920

AT

oy e
R

L¥ad

OF POUR Quawii¥

Torque vs. Induced Load
of
260 KSI 5/16-24 MP35N Bolts (MD111-420-0547)
Tested with
NAS 1587-5, and -SC Washers, 7075-T6 Al LABORATORIES
Joint Material, and EWNM-26 Nuts
Nut Lubricant - 620C dry film Chart No.: __
Torque was applied to the nut at 2 RPM Date:
) F I R A L A L A A LA LN LR AN RA R N LLLLAE AN
SN Ol et U A Ul ) L A L B Ul L
F e
A 3
; = =
I: E’— ’E
, L =
71.2 1(16) -
: b =
62.3 (14} [ o
. = 3
’ r 3
' > o =
3.4 1(12) =
' I 3
-k
44.5 1 (10) |- V -
w =8 =
g, i / E
Y [ pm
35.6§(8) aF 7 & E
26.7 '(6) F =
@ Va4 E
17.8 (&) L 4/ f
' » / 3
S E
8.9 1(2) [ / =
PE 3,
' S | : 3 :'
! “JHU widedbdo uuluu HllllHL UUJHM IUJJUH Lllllll“ “JJH mlu h
tinch pounds) (100) (200) (300) (400) (500) (600) (700) (800) (900) (1000)
Newton-Metres) 11.3 22,6 33,9 45.2 56.5 67.8 79.1 0.4 101.7 113

29

Figure 22,

[ R

3 A dlah e

e AT e W Y

- AT debed Loes deh e Bk BedediB ey u !

AR AL AR S T AD A S %




2 it e o s hine et s

N ) M1 b e reatme

Report No. 5920

1S
' ORIGINAL Pﬂ-ﬁim
OF POOR Qu
=
Torque vs, Induced Load
of
260 KSI 3/8~24 MP35N Bolts (MD111-4020-634)
Tested with
NAS 1587-6, -6C Washers, 7075-T6 Al LABORATORIES
Joint Material, and EWNM-26 Nute
Nut Lubricant - Cadmium hart .
Torque was Applied to the nut at 2 RPM o No.:
Date:
FTT T T T T T T T o o Y T T T RERRRALS AR LAV R A AR R LA A
I < L A A A A A AR R A
LE 3
89 1(20) E =
0 - —
' - e
. E / E
80 L8y E . =
- E /o E
o £ / E
71.2 1 (16) | — —0- =
- E ) / . 3
: = o 3
62.3 ' (14) | / =
: = / =
. E / E
53.6 1 (12) E / —-
LB / 3
44.5 1 (10) £ 7
1 — -4
B : -3
g 3
315.6 o (8) =3
3 E a4 E
L E E
z 6) g 3
26,7 T —~
X /'y :
! iy = -
: - ° E
17.8 ' (&) E / L =
1] o —~
' - 3
' 3 f 3
8.9 12 E—A =
L - -
] - :
N EL
Lljlll uulnu uu‘nu unluu uuhm uulun uuhm nnlnu uulnu aubiid

(inch pounds) (200) _ (400) __(600) __(800) (1000) (1200) (1400) (1600)

----- m—eeceoeciescerenesee

(Newton-matres) 22.6 45.2 67.8

90.4

30

113

us‘s

158.2 180.8
Fig._xrc 23,

e v

e AR h A s a0 e S

L A A At T Nl s e Sl loiatn 5T B o/ SIS a0 Buh o~ S s A Ml €, W e




© P AR s gty

Report No. 5920

ICIMAL PAGE 1S
OP ¢! < 'I-\L‘TY

P
4

—
Torque vs. Induced Load
of
260 KSI 3/8-24 MP3I5N Bolts (MD111-420-634)
Tested with LABORATORIES
NAS 1587-6, and ~6C Washers, 7075-Té Al
Joint Material, and EWNM-26 Nuts
Nut Lubricant - 620C dry film Chart No.:
Torque was applied to the nut at 2 RPM Date:
' imPU lllillll H”]HH TIH]ITH HHIHH Hllllll ”H]’H” UUIHI IIWTTHI HH]HT_‘;
: - 3
: g ] -3
: 2 , E
: = =
o 3
71.2 1(16) — =
! g =
, 62.3 wa) & i
: =
( : 3 3
; 3.4 112)  } | ' =
‘ F ! / —;
64.5 1100 F ] =
[ o el -3
g ‘é“ | 3
35.6%(8) RF S S—
% Sb / E
26.7 1(6) —
' - 3
. ' E. /( =
T : - - _.—:
17.8 14 /] =
Cf 7 - E
- » :" ]
l ' E 74 3
8.9 1() [
-— E E‘< —au
- : - t :
' L HHJLLH l]luJ JHLIUJI UM[HM llllJJJl Ulllllll nulu uu‘nn hlllUj. :

- {inch pounds) (100)  (200)  (300)  (400) (500) (600) (700) (800) (900) (1000)

................................................ TeeEsmesnesecaovaan

Newton-Metres) 11.3 22.6 33.9 45.2 56.5 67.8 79.1 90.4 101.7 113

Figure 24.
k)1




2

v

‘ >
>
e

Report No. 5920

CRICINAL PA2T IS
OF PCOR QUALITY

Torque vs. Induced Load
of
260 KSI 1/2-20 MP35N Bolts (MD111-4020-0822)
Tested with s
NAS 1587-8, and -8C Washers, 7075-T6 Al LABORATOR!
Joirt Material, and EWNM 26 nuts
Nut Lubricant - Cadmium Chart No.:
Torque vas spplied to the nut at 2 RPM Deate:
, _IHIHII HHPTI HHPIT{ IIHITIITHH,HH IHIIIIH Hll[lm lllllllﬂ ﬂTIIIHl Hll]”ll:
‘ - -
. = é
22,4 1 (50) =
' [~ 3
. - —
H = 3
200 | (45) E =
i 3 =
177.9 ) (40) £ =
B 2 =
f - b=
155.7 1 (35) £ =
b / =
133.4 1 (30) |f-— R ;:
112 o (25) 9. A p =
c [-1d :
S § =
2 F - =
l [: -
90 &qoy S . =
ol -4 P
" ~ 3
PET / E
66.7 (i) £ =
: pov
1] - —
: = —3
.5 j(10) E /] 3
) [ s
: - / =
: = —
! 3 '/ 3
22.2 (8) E 3
H - 3
) - -—.
s ~ pw I3
' ’ uluu nulnn uulml uulnu quluu uulun uuluu uuluu TminrE
(ingh pounds) __(w00) ___(2000) (3000) (4000) (5000)
(Newton-matres) 113 226 339 452 345

Figure 25.
32

B

T >

O e N AT A S A

e tn e e waea

- € —

S ot I o,

—— s~



P

e e e M Wer oty b Y Mo

e et e o

por

Report No. 5920

ORIZTL T L ks
OF POOR QUALITY
Torque vs. Induced Load .
of '
260 KSI1 1/2-20 MP35N Bults (MD111-4020~0822) .
Tested with .
NAS 1587-8, and -8C washers, 7075-T6 Al LABORATORIES 2
Jjoint Material, and EWNM-26 nutse ,
Nut Lubricant -~ 620C dry film X
Torque was appliad to the nut at 2 RPM Ohart No.: ;
Dete: .
AU AT L AN T T l
; T [ T I ! IR = |
: = 3 g
222.4 1 (50) = |
2 = |
200 (45 E = §
: 2 = i
177.9 ! (49) : —d =
: = 3 i
155.7 1 (35) |- = .
: - 3 ’
. X =
133.6 1 (30) | / 1 3
112 E(25) QE E
n -] - —4
A 3
. 3
b - /
90 2 (20) S 3
it L -
TE é
6.7 ;(15) L E
: = =
PE” 3
“.5 }(10) E E
[} —d
Lk / E
] : —:
: 3 / 3
22,2 () E 3
E E
: :
' ““I[LH Hulllll Ullll“l hllllﬂl uuluu unluu Hlllll“ lllllllll ““LLM‘ 2
(inch pounds) (1000) (2000) (3000) (4000) (5000)
(Newton-metres) 113 226 33 452 SOS.
Figure 26.
kk]




Report No. 5920

Torque vs. Jnduced load
of
260 KSI 5/8-18 MP25N Bolts (MD111-4020-1025)
Tested with

A-286 plain, sad countersunk washers, 7975-T6 Al LABORATORIES
Joint Materinl, and EWNM-26 Nuts
Nut Lubricant - Cadmium Chart Neo.:

Torque vas 11ed to the nut at 1/2 RPM
qu applie / Date: .

,v.,,,T,
l
|
\
N

T

i
'
1

on
,

T AT I T I T o T e I eI I [T oo K

M it A U A U W L L

] - -3

: . 3
222.6 | (50) 5-~—~aT«~~—~«»< =
. 5 -3

" L 3

w0 1) E =
‘. = =

. 3 E
177.9 1 (40) |- / ///, =
] ‘: -
135.7 1 (35) 1// =
: / =

‘ I / 3
133.4 ¢ (30) . E
: 3

112 .E(zs) % .A+_. A/// Jff _
|

A

11“1 il

&
90 5! (20)
= 3 /

4
% | / 3
66.7 I;(u) - l / / f
: E / =
o | / E
“.s (10 E 3
] - -
i B =
] - e
' - 3
: - 3
2.2 8 E ‘/” =
: S e 3
E = —3:
! il 111111111 1111111L111A1111111 tlxlltxn‘ 111111111 11111111 111‘11‘1 1111111(" :
(inch pounds) (1000) (2000) (3000) (4000) (3000)
(Nevton-mstres) 113 226 33 452 535

Figure 27,
34

B i e el 3



e

Keport No. 02920

oM GiMAL FRGE IS
CF POOR QUALITY

Torque vs. Induced Load
of

260 KSI 5/8-18 AP3ISN Bolta (MD111-4020-1025)

Testel with
A-286 Plain, snd Countersunk Washers, 7073-T6 Al
Joint Materia), and EWNM-26 nuts
Nut Lubricant - 620C Dry Fila
Torque vas applied toc the nut at 1/2 RP*

Chart Ne.:
Daie:

. T[T v LUt LU L e G g
'. o IE
' -
222,41 (S0) e — e R
. 3 ‘ |
; - i y
200 % Fo— . =
’ — —
' L'_ ? =
177.9 1 (40) fo—- 4= o - — E
, 3 __5:
o | E
155.7 ; (35) - J 7 | w =
' | / E
133.4 ' (30) :-__“_*-__.__l__ U S — ;
3

"
3 L A T 7
o -
H : / -3
c « =
% 220 §~ / =
-y —_p—
" - 3
L / 3
5.7 ,(1%) F =
' 4 / 3
' - ~
' 3
4.5 (10) 4 3
3 < p
: d 3
IR IO I / 3
LB —3;
' ’ Lild 11111““ iLllLLu uuhu Allllul uuluu HU[HU mlluu MUIHIL JHTITITR :
(ingh pounds) (1000) (2000) (3000) (4000) (3000)
(Newvton-metrec, 11 226 3 452 365
Figure 28.

35

.

W et e ¥ B 4 e e

v 3

A A

Nt aihdiss

o b




v

Raport No. 5920

Part

EWB-0420-4-34

EWB-0420-5-38

EWB-0420-6-22

EWB-0420-6-40

EWB-(0420-8~44

EWB-0420-8-46

EWB-0420-10-26

EWB-0420-10-50

opigMnt. FRGe S

OF FOGR QUALITY

TABLE I

Ultimate Tensile Strength

of

EWB-0420 A286 Bolts
and Companion Nuts

Tensile Strength

Proportional iimit

NAS1348 Area pounds psi pounds P37
.0388 8200 211000 6800 175000
8150 210000 £800 175000

8320 214000 6900 178000

21.7 Vil

.0614 13000 2120C0 9500 155000
13200 215000 1000C 163060
13000 212000 9500 155000
2\> 1ST7

.0950 19200 202000 1450C 153000
»9250 203000 14375 151000

19150 202000 14250 150000

19700 20700¢ 14500 153000

103.> 1518

L1717 36500 213000 23000 163000
3/000 215000 28000 163000

36700 214000 <6000 151000

39000 227000 29000 169009

Vv 106/1.}

.2724 56500 207000 40000 147000
56300 207000 40000 147000

56500 207000 40000 147000

58006 213000 42000 154000

208 Y H}S.?

36

~

G2

49

A e

‘qqd

At

cat e n

AR T e e e A AR a -




Repcri No. 5920

Part

MD111-4020~-0417

MD111-4020-0547

MD111-4020-0634

MD111-4020~0822

MD111~-4020~1025

~s

w

k-'z‘;GR‘ QUN-"W

TABLE II

Ultimate Tensile Strength

of

MD111--4020-MP35N Bolts
and Companion Nuts

Tensile Strength

Troportional Limit

NAS1348 Area pourds psi pounds psi

.0388 10180 262000 8800 227000
102060 263000 8700 224000
10240 264000 8900 229000

.0614 15250 265000 14250 232000
16600 270000 13500 220000
16800 274000 14000 228000

.095 24750 261000 19750 208000
24875 262000 20250 213000
25300 260000 20500 216000

1717 46500 271000 37500 218000
47000 274000 35500 207000
47500 277000 37500 218000

L2724 72000 264000 62000 228000
72000 264000 62000 228000
72500 266000 62000 228000
37

R kR e

ot | e e e 1 em

R

Tt e e e

Mo T et tal A e

Ak e




¥ e

Report No. 5920

Washer Bearing Area,

Lemeramy TL3P L 35
(‘\.,t' -‘;,,'L VO s B

-t

: ©0R QUALITY.

TABLE TII

of

Brinell Load,

Maximum Allowable Bearing Stress

7075~T6 Aluminum Joint Material
Tested by Loading NAS 1587 Washers Against the Aluminum

Joint Bearing

Bolt Tensile
Stress at

Size square inches pounds Stress Brinell Loac

1/4 .168 6000 36,000 psi 155,000 psi

5/16 .194 7000 36,000 psi 114,000 psi

3/8 .252 10500 42,000 psi 110,000 psi

1/2 .318 17000 53,000 psi 99,000 psi
Avg. 41,750 psi

of

Maximum Allowable Bearing Stress

NAS 1587 Washers and A286 Nuts and Bolts
Tested by Loading A286 Bolts and Nuts Against the NAS1587 Washers

Nut and Head Bearing

Brinell Load,

Washer Bearing

Bolt Tensile

Stress at

Size Area - Square inches pounds Stress-psi Brinell Load
1/4 .097 4000 41000 103060 psi
5/16 .139 6000 43000 98000 psi
3/8 .213 9000 42000 95000 psi
1/2 .330 17000 51000 99000 psi
Avg. 44000
38
R Y Y B TR T ol on




Report No. 5920

)

OF POOR \ UALITY

TABLE V

Maximum Allowable Bearing Stress

of

NAS 1587 Washers, and MP35N Nuts and Bolts
Tested by Loading MP35N Nuts and Bolts Against NAS 1587 Washers

Nut and Head Bearing

Brinell Load,

Washer Bearing

Bolt Tensile
Stress at

Size Area -~ Square inches Pounds Stress Brinell Load

1/4 .124 5000 40000 128000 psi
5/16 .186 7500 40000 122000 psi
3/8 .294 12000 40000 126000 psi
1/2 .500 20000 40000 116000 psi

39

[ T

O o e e

P, e,




AmAmry SRS G
Report No. 5920 - Revised 4/27/78 6#>""” e
AN P

TABLE VI
Recommended Seating Torque
to Induce 90,000 psi Tensile
Stress* in the Bolt Threads
of EWB 0420 A286 Bolts and 61170 Nuts
1. EWB 0420 A286 Bolts, and 61170C (Cadmium Plated) A286 Nuts

Induced Load,

.k

Bolt Size pounds Torque - in.-1bs. Coeff. F.**
1/4-28 3500 130 .15
5/16~24 5500 400 .23
3/8-24 8500 530 .17
1/2-20 15400 165Q .21
5/8-18 24500 2680 .18

2. EWB 0420 A286 Bolts, and 61170C (Cadmium Plated) A286 Nuts, and Cetyl

Alcohol

1/4-28 3500 112 .13
5/16-24 5500 280 .16
3/8-24 8500 380 .12
1/2-20 15400 1200 .16
5/8-18 24500 1700 .11

3. EWB 0420 A286 Bolts, and 61170M (620C dry film) A286 Nuts
1/4-28 3500 135 .15
5/16-24 5500 280 .16
3/8-24 8500 480 .15
1/2-20 15400 1220 .16
5/8-18 24500 2300 .15

* Stress calculated using NAS 1348 Tensile Stress areas

** Coefficient of friction calculated using the formuia T = (Nominal

dia.)

(Load) (F).

40

e —————



Report No. 5920

TABLE VII

Recommended Torque to
Induce 90,000 PSI Tensile
Stress* in the Bolt Threads
of MD111-4020 MP35N Bolts,
and EWNM 26 Nuts

1. MD111-4020 MP35N Bolts, and EWNM 26 Cadmium Plated Nuts

Induced Load,

Bolt Size pounds Torque - in.-lbs. Coeff F, *#*
1/4-28 3500 160 .18
5/16-24 5500 500 .29
3/8-24 8500 800 <25
1/2-20 15400 1750 .23
5/8-18 24500 2500 .16

2. MD111-4020 MP35N Bolts, and EWNM 26 nuts with 620c dry film lubricant

1/4-28 3500 134 .15
5/16-24 5500 250 .15
3/8-24 8500 500 .16
1/2-20 15400 900 .12
5/8-18 24500 2600 .17

* Stress calculated using NAS 1348 Tensile stress areas
k% Coefficient of friction calculated using the formula T = (Nominal
dia.) (Load) (F).

41



Report No. 5920 - Revised 4/27/78

APPENDIX

Contains - e

1. Tables of Nut Seating Torques for the five
combinations of fastener material and
lubrication

(]

Test Part Drawings

42

YA el < o ameiasding b Slaniot v SLANMNE



Report No. 5920 ~ Revised 4/27/78

EWB 0420 A-286 Bolts and 61170C Cadmium Plated A-286 Nuts
with

Nut Seating Torque

for

NAS 1587 Plain and Countersunk Washers on 7075-T6 Joint Material

Preload Stress

Bolt 110,000 90,000 70,000 50,000 30,000 10,000
Size psi psi psi _psi psi psi
1/4-28 17.9 N/a  14.6 N/m 11.4 N/m 8.1 N/m 4.8 N/m 1.6 N/m
(159) in-1b.(130) in-1b(101) in-1b.(72) in-1b. (43)in-1b. (14)in-1b.
5/16~24 53.8 44.0 34.2 24.5 14.6 4.8
(477) (400) (303) (217) (130) (43)
3/8-24 71.4 50.1 49.1 35.6 21.4 7.1
(632) (530) (435) (315) (190) (63)
1/2-20 219.2 186.4 151.4 116.4 62.1 20.7
(1940) (1650) (1340) (1030) (550) (183)
5/8-18 370.0 302.7 235.5 168.3 100.5 33.9
(3275) (2680) (2085) (1490) (890) (300)
Notes: . NAS8 - 32525 data base

w» e W

Torque in Newton-metres
Torque in inch-pounds (XX)

. Preload stress based on NAS 1348 tensile stress areas
. For preload stress variation see SPS Laboratory Report

No. 5920 (NAS8 ~ 32525)

43



Report No. 5920 - Revised 3/27/78

Nut Seating Torque
for
EWB 0420 A-286 Bolts and 61170C Cadmium Plated A-286 Nuts with Cetyl Alcohol
with
NAS 1587 Plain and Countersunk Washers on 7075-T4 Joint Material

Preload Stress

Bolt 110,000 90,000 70,000 50,000 30,000 10,000
Size psi psi psi psi psi psi
1/4-28 15.5 N/m 12.6 N/m 10.0N/m 7.0N/m 4.1 N/m 1.4 N/m
(137)in-1b (112)in-1b. (87)in-1b. (62)in-1b. (37)in-1b. (12)in-1b.
5/16-24 38.6 31.6 25.4 18.8 11.3 3.7
(342) (280) (225) (166) (100) (32)
3/8-24 52.4 42.9 33.3 23.8 14.3 4.7
(464) (380) (295) (211) (127) (42)
1/2-20 165.7 135.5 105.6 75.3 45.2 15.0
(1467) (1200) (935) (667) (400) (133)
5/8-18 235.0 192.0 149.1 106.7 64.0 215
(2080) (1700) (1320) (945) (567) (190)
Notes: 1. NA38 - 32525 data base
2. Torque in Newton-metres
3. Torque in inch-pounds (XX)
4, Preload stress based on NAS 1348 tensile stress areas
5

. For preload stress variation see SPS Laboratory Report
No. 5920 (NAS8 - 32525)

44



-yt -

[P ———

Report No. 5920 - Revised 4/27/78

Nut Seating Torque
for
EWB-0420 A-286 Bolts and 61170C (620C Dry Film Coated) A-286 Nuts
with
NAS 1587 Plain and Countersunk Washers on 7075-T6 Joint Material

Preload Stress
Bolt 110,000 90,000 70,000 50,000 30,000 10,000
Size psi psi psi psi psi psi

1/4-28 18.6 N/m 15.2 N/m 11.9N/w 8.5N/m 5.1 N/m 1.7 N/m
(165)in-1b. (135)in-1b (105)in-1b. (75)in-1b. (45)4n-1b. (15)1in-1b.

5/16-24 38,6 31.6 24.6 17.6 10.5 3.5
(342) (280) (218) (156) (93) (31)
3/8-24 66.3 54,2 42.1 30.2 18.1 6.0
(587) (480) (373) (267) (160) (53)
1/2-20  155.3 137.8 118.6 89.2 53.5 17.8
(1375) (1220) (1050) (790) (474) (158)
5/8-18  317.6 259.8 202.1 144.4 86.6 28.9
(2811) (2300) (1789) (1278) (767) (256)

Notes: 1. NAS8 -~ 32525 data base

2. Torque in Newton-metres

3. Torque in inch-pounds (XX)

4. Preload stress based on NAS 1348 Tensile stress areas

5. For preload stress variation see SPS Laboratory Report
No. 5920 (NAS8 - 32525)

45




Report No. 5920 - Revised 4/27/78

Nut Seating Torque
for
MD111-4020 MP35N Bolts and EWNM-26 Cadmium Plated Nuts
with
NAS 1587 Plain and Countersunk washers on 7075-T6 Joint Material

Preload Stress
Bolt 110,000 90,000 70,000 50,000 30,000 10,000
Size psi psi psi psi psi _psi_

1/4-28 22.1N/m 18.0N/m  14.04/m 10.2N/m 6.0N/m 2.0 N/m
(196) in-1b. (160) in-1b(124) 1n-1b. (90) in-1b. (53) in-1b. (18) 1n-1b.

5/16-24 69.0 56.5 44.0 31.4 18.8 6.2
(611) (500) (390) (278) (167) (55)
3/8-24 110.5 90.4 70.3 50.2 30.2 10.2
(978) (800) (622) (444) (267) (90)
1/2-20 241.8 197.7 153.6 109.8 65.9 21.9
(2140) (1750) (1360) (972) (583) (194)
5/8-18 345.1 282.4 219.6 157.0 94.1 31.4
(3055) (2500) (1944) (1390) (833) (278)
Notes: 1. NAS8 - 32525 data tase
2. Torque in Newton-metres
3. Torque in inch-pounds (XX)
4. Preload stress based on NAS 1348 Tensile stress aresas
5. For preload stress variation see SPS Laboratory Report

No. 5920 (NAS8 - 32525)

&6



e e e ottt b i

ST, - ks ta e e+ ke

i e a2 2t o et ok

o e b cciuem e

Report No. 5920 - Revised 4/27/78

Nut Seating Torque
for

MD111-4020 MP35N Bolts and EWNM-26 Nuts 62(C Dry Film Coated

with

NAS 1587 Plain and Countersunk Washers on 7075-T6 Joint Material

Preload Stress

Bolt 110,000 90,000 70,000 50,000 30,000 10,000
Size psi psi - psi psi psi psi
1/4-28 18.5 N/m 15.1 N/m 11.7 N/m 8.4 N/m 5.1 N/m 1.7 N/m
(164)in-1b(134)in~1b(104)in-1b. (74)in-1b. (45){n-1b. (15)in-1b.
5/16-24 34.5 28.2 21.9 15.7 9.4 3.2
(305) (250) (194) (139) (83) (28)
3/8-24 64.9 56.5 43.9 31.4 18.9 6.3
(575) (500) (389) (278) (167) (56)
1/2-20 118.6 101.7 79.0 56.5 33.9 11.3
(1050) (900) (700) {500) (300) (100)
5/8-18 344.6 293.7 242.9 173.4 103.9 34.7
(3050) (2600) (2150) (1535) (920) (307)
Notes: 1. NAS8 - 32525 data base

2. Torque in Newton-metres

3. Torque in inch-pounds (XX)

4. Preload stress based on NAS 1348 Tensile stress areas
5. For preload stress variations see SPS Laboratory Report

No. 5920 (NAS8 - 32525)

47



P

‘~
Report No. 5920 - Revised 4/27/78
B .- . i' p'! iz IS *
LTINS, tranDasceRcsa D STLLL L OR‘G‘NA' S LT ) OF 2 U');
A CF POOR QUALITY -
—«” - \-/ .
S DRILL "N° DIAACTLK, FOUR P R . — LENOTH e (/)
MOLT S, Whl N kL Suriel D ——FLAT, CuRVID, OR | | -.'i
BRLAN SRAS T OUTHIL. == L G m— LR aeml T - ‘ ANLLaE £CTTOM le
Couln ' ' ‘ OPTIUNAL 1
: .
ViX, TvO i ()1
RN AN - N
cr TH.).) : m
Ll ) ! - € r.—
§ . ‘ {9
/-R 1 ,,.’I_...U \ |
] (n
/ | i ' }
1
e e _ N
k ™ -
B ‘1 | N |
e amaan ya ol ¢
- [ad
7 T /4 ?
L uniFinThazaD @ * =)
v PR ML-S.I.70 MASCR o/
O TANP WP, BT AND N oo e C'A SHALL EZ A M.\, CF SrETICN A-A z
APPLICASLE DIANV ZTT -~ LS LUSS THAN MUASUREO =%
DASH NJMULTR,.0IC MAX, SHANS CIA, F..‘
[ Y~
. ©°
. o
T ' ! , ) 1 | | | l
Al ¢ ' o t £ " J AN O F R T LW x| v =
' PART AD nN-AD ‘ ! { ' T ' ' ' I ! ! ' b
| Tjunareaagelons s, | I U P A } JREFRZF | ' ; | g
- i aer ! .- 2 :
! N .. i N .0 w7 R R T ey U i sy m P E S -
FVa) mieed L1l 3w 0 0T ] - Al P IR P T E DL /2 DA * € ). I T N 2 ke Ll CRS
. m—— - B A T A BEENSRE AL S .
vt oes i e N U L.ean. i PORRL S LN @
v oRic-al uie 8 el ~ 230 [% SRR MO L B PR Y Y &> SRR . o ,u)‘ . 3l LOLYT Gy
, D P, — ' G e e ] ™y v 1 -
ToavL baley f Wt v \ 4t h; B TR L TP S Y S R O I,, 112 A J:. S -F2 P ALY ot
’ - - - - . .- - — . - - . - — - . - - . e . . - - ¢
| o p A 7 o ! c T ! d -
U T VU 5V TS SR S R W AN AP AT B TR 37 T - SR Coy o857 .65 T . [ 7 RT3
| SO e et e oe — — — Pk - - e - - b= —— - AL B e ——
, ; . e N ' ; P NI DO I
’ [ LW C S P} €,7.20 | .74 ¢ BT Lot %% b .(.7\.1 A SN 7T ] (.:7"7"' NS FEPRIRY <7012
"""" e O .“""“: N "‘_"". - "".‘“L," \ "’T's.r T LA
O R I Y 0 U B L LT P S N AL P S I S L - L€10 .CCo S
y - - —— —— — .- [ - - - . - - —— — — -, = ol —-— 4
{ ) Y Py e e 3]
| |x‘.l“~‘.--')l~~.‘:_ Lo ] PR TR S T N S SR 7S BRGNP NN - B BpP YX1 By
: CWD &t Au}lul Tee- ) ; -4 —37“('- ~'Io-] o I"-c. T '"'—cv (13
' ¢ A NS AE Y P N 2 ) ! e oy I g [ AN 7] .o 1 ! o (&-J,ﬂ oL ! Lo "
: coote |3 aug 1003 -p |- - .. . NN . .. .
L [ W TRACH B ST !s....l ,___ _soﬁ_}_m e R AL |8 eua| Less s oy d-11) +63 | gl o13).00%
—— r———— b o - - RSN NISESUIOI P SR SUN S SN

MATCERIAL: A<2EC PLR AVE 27,7,

. FINISS:, CALNMIUMPLATE PUR CC3a2t., TYPE |, CLALS ), CRTYPZ I, CLATS ), OR PLAIN, WhEN SPECIFIZD,
AT AND B WITHIN ‘X T LR,

. CONCINTR.LITY: DINMINSIONS

[

',

2. NLAT TREATMENT, 200,C00 PoI MININOM ULTINATE TENSILE STYRINITH,
3

4

BODY AND PITOM DAMITER WITHIN YT LR,

$. PART AUMELR: FIRST DASH NUVEZAR DE

SIGNATES DIAWZITER IS SIXTLINTHS,

TECOND DASKH KUMEER DESIGRATES GRIP I\ SIXTEENTHS,
ADD %* TO FIRSY SAS< KUMEZR TC DLSIGAATE CROSSORILLED HEAD,

ADD “C* TO SECONT DASH KUMEER FOCR CADMIUV PLATE PCP Q3-P-iit, TYPZ ), CLASS Y,
ADD ©° TO BASIC PAPT KUMSER FOR CADMIUNM PLATE PER CQ-P-41(, TYPL 1l, CLASS ),
CXAMPLES, EWS 0420-4=iC & .293-28 CXTERNAL WRERDHING BOLT, 817 LONG, 300 GRIP, WITH CADMIUM PLATE. PLR OG-P-418,

TYPL |, CLASS ),

EWE C420-84-10 = 173224 EXTEANAL WRENDHING ECLT *, 202 LONG, (1S GRIP CROSSOANLED MEAD,
CWB 04200+8-10 = 317314 EXTEANAL WRENOHING BOLT 1,252 LONG, .u GRIP, WiTh CADMIUM PLATE PER QQ-P=418,

TYrL 8,
. DINENSIONS IN INONES,

. FOR WLIGHTS SIL $PS $0,300.883%:,

CLALS ),

REFTRENCE DIMINSIONS FOR DESAON PJID“!S AKD ARE KCT AN INSPECTION REQUIREMENT,

[}

?

§. CHANIER 4 LY 43° APPACX, CHAVTLIR PLUS INCOMPLYTE THREADS NOT TO ﬂ“tﬂ TWO PITCHES.
]

.
BTANORD
4 ZanCEL: LN AT 4P LS LU LTRIRA M LOTED K INGICATES LATEST GrANGE
STANTARLY AN S I SIFICATIONY " oi Sases By J. LED. OAYE 2142
0 ci5 ASPAOVED <L/ 7l ©ATE 103142

APRENSIA 4.3
¥43. ILINT, €CCIL MO, M
< v b SN INTORN, PENLA,

BOLTY, TENSISN, EXTIAALL VRINCHING
209,038 PSI N IMYY TERS: L STRENGTH
PR CRYLSENC APPICLT.ONS
AL MATEN AL PLA AMS $737

_—rt - — -

VAARY Myl LA

_EWB 0420

9



B TN e ]

B e Sy

, re
e e st g

-

- Em— - - o~

- e

B A )

LTS,

La adb o _ 7]

e~ W

P

O

OF

pLOR

«
far

.

3

o ALITY

l'-nLrT 2 b e -~ J

PR A IR ]

‘

KN

’

——

_ |
Lra
' ‘:_ L oANIT . ~ -
‘ DALH GRiP iy T T -t -7 oy K -1 ST
i n3. | s.C1 e Ly o 375 37 | RSN IR ¢ .65 l 82
l 2 RS % e o RN an ' en | nen
< it Ll 747 837 s 1000 1ves | 1rer 1,381 1421
¢ a7 T e 02 boa g2 (IRER 1.0 1,316 1.3% 1.5¢6
o L ] < L8807 1,07 1.157 Tl o 10 1,000 1.0
10 N U R I Lo v Lic e | ot 1.0 Lete
12 P AN | B ANRE 94 1,337 17 1.0 1.5 1.0 1.741 1,841
14 83 3,273 1,302 1 o2 1,922 1,23 129 1 . 1.076 2,006
| v ores e Vet vt | vma_ g _ves low oo b ozeer | 2w
18 1Ly .uhs IR .21 1,7-.:—1 1t 1.9 | 2.Ceu .2 2.3t
PO 1,24 | R ] t.2.7 1,t3? 1.%07 2.2 ] 2.C0% 2. 1wt 2,251 2.4418
RS 137§ 103 L e | 2o 20 FEIT RN I 35 X 217, 2.5
L 34 LI I I BCTON RN serr a7 Vo2 L3t 2en o2 ENA Y
N R R T hme : 220 2 e 17 :ae
2a A% POl IR U B Y RIS TS 2N IEPRY- . 2,03 | 2 2.0 2,943
30 1.7, 2200 S TP 2.42 2,522 2 2.7} 2.8 2.8/u 3.006
RN S BT T B JPTE N I B RS 3 LS : > ) 2 ean 3 oc 3,191
3 FR SR T SO BRI LSRN Il T aL 2503 | 26w 116 1IN
i RO T B IO I Y PRSI I WY 3o I | o S 3. 800
v Lt L PR I 20 Y (SN N N TR I INWRI B FRAR S SRS N B 0 LTV I I PO 1506
T DRSR JERTE R R EYE T2 IR e T Ty ) s e PR 3.9
42 €. 3.3 3 ‘ 3 o 3 3. b b L 3 e 3.816
&8 | 2. Vs | e RS BN PYON 323 | e I 3.9¢?
@ _ __z,u;.‘_“_).:n 3t daca | x| dea_ 4 a7y Ly | e 6006
45 3. e 3.40 3.4 3.7 3.Le? 3. 7.. 3.8:3 3.8 4,01 4,190
50 3wy | 3,43 | e .72 | w2 18 3.80) | a6ic 4120 'Rl
¥ 3,059 3.¢5 3.713? 3.8 3,887 4.0 4,003 419 £.201 4.448)
3¢ 2 | 3w} a2 | 3 | swi | e Va2 | eav 4376 ) __e5ce_ |
%% 3,863 | 3.5c3 | 3.s37 a.087 ] 157 4. €.333 | 4.4t &t 4,691
1] 3028 | eomy | a2 a2 | s2e2 IR €403 | 4.5 4826 4,016
1 3.730 | 4,138 4237 € | e 4.3 6.2 . 4751 4,941
62 1 305§ a2y | ase | a2 ]| a5 | acn | et f ase_ | e |
“ € | 4408 | 4.cu7 4,587 | 4.7 4.75% 6.3 | 4841 s.cot $. 191
“ ans | 49 | a6 e} am 4.2 450 | s, $.126 s
© 4,290 | 4620 | 4737 407 | o907 5.¢°2 $.600 | 8.9 5,291 $.481
70 43713 | 4 4,862 a.902 | 8.2 s, 133 s.213 | 8,318 3,378 .30 |
i 4,200 | 4.9 4.8 5.080 | 8,187 s.282 $.338 | s.a $.801 3.08)
%% 668 | 3.0 | 8112 s | s 5.3 $.463 | 35.%¢ 8,426 5.018
”* 470 | 5128 | 529 “n? | s.e0 .82 s.%08 | s.en .71 5.94%
b1} 4073 1 8.2 | 3042 5.062 | s.932 3.61 s.713 1 s | s.0% (N ]
* 3.000 | 8.60¢ | 5.487 $.507 | 5.687 5.7 5.830 | s.841 | 6.000 6. 191
[ ] 8,128 8.3% 8.612 $.112 5. 12 s.002 $.90) 6. 048 6. 124 6.3
[} $.2% $.459 8.7 3.87 .7 6.0 6,003 6. 191 .23 6,48y
“ $37s 1 s |seea | seez | ema | e | a2 | ene ] 637 s,
[1) 8.8 $5.908 [ X 13) ..007 6, 13?7 6.233 T 6.338 §.441 6.591 6.601
» $.623 6.0 6. 212 6.212 6.282 s.383 6.4 6.948 $.628 6.0
2 $.730 6. 138 6,237 $.33?7 6,007 €. 583 " 5,588 6.(0 [ %, ] . 6,041
s lems |gsez ! g0 | em 5.2 $,39_1 6,08 | e |
[ ] 6.000 ¢.408 .87 .87 6. 637 6.738 .08 6.841 7.0 7.9
” 6. 129 : 7.068 7,128 7.9
100 [ %. 1] 7.1 7.28% 7.041
| e —_ EXTI IR XS 7.9
104 $.380 9 7.441 7.89 7.601
108 .62 7.348 7.6028 ?.008
100 6,780 7,690 7.7%% 7,941
10 .08 ?7.018 7.0 8,008
| owm_Joree | )] 1 | v.0e | 8 c0t o 191

INTERMIDIATE AND LONGER LEAGTHS MAY BE SPECCIILD BY THE UST OF WHOLE ARIF DASK NUMBERS OM.Y,

=) 468S-8-5d$

LAY Ieiad ] (()

oy 0¥ 1 vy

$3-f1-a1

TRIE TN O RENEV)

K}

119

IR




e

. ————

{(“'—-\r"lepor-tomsujm aRevised 4/27/78 weer 1 or P El
v‘ A-) ‘P“CCVS-O’! FASTENLS DIViu D \~u) ‘;:
§ L - i“ L e ) ,U F..‘
‘ VUl . w i

! w

,A
-

.
Ve o o

: i__]
-
|

o'

r_
i
bt
‘-—41———-—-
pliuateiediod
)
.
3% A

’ , \ !
-h—d-
(==~ “l .\
[}
\ 1 ,
\ }
TOOL MARIIS AND OIS TORTION AT TOP OF NUT COUNTERS K H
) > =
DUL TO LOCKING FLAIUSE PERMISSIBLEL, COUNTLRBONE, O RACIUS RELIEF !
TO THIAEAD WITHIN THE LIMITS 1
or ‘" pDua, ?
(I |
. |
e et SR _— . ~ 3 {
LA B8 C ' H P S \% w X | rewsive | arpron I
VALH m oA [0IA DtA STH! NGTHIWEIGHT
' Ny, THUHLAD MAX AN [ ain] max [maAx I Min [MIN [MaAx] MmN LHs pith, [LilS/ 200 l ,
1] Py RN S =z % - = - T - T Y e, g —— - —T il e e ra———
! ' ).
b -1414] MTN=18 UNJI =303 Ji_u. 1,993 0|1 ,0.0 101 35091 .tas [1,00e]v,09 005 102,000 - 16,97° . ' t.
- - - .. — - - - - — B it Rl - —— —— - - -— "l
M -1t (1. 00U =12 NIE =y ] LICRIS IEIRN p.‘.u‘: J10 "N':J 0] 170 e v0f0,17a | 00, , 133,680 24,72 e
. - - - N P I . e e ——— - - - .
N
=tnt D V=1l UNTY =y I e, S AVS LIRAN ,t,\.‘o [ ) 4O N70 [1.3778, 309 Luc 171,000 3¢,24 l‘
vt e e e — e ey em— e e - . e e W s e iy o) cai et v e = ——— 4 ma —— .»—.—.‘[_._._— \‘.~
=C0N N T =TS UNIY = } s L rersr,es v sve e 2en] 00| 710 |u w00 {0 e | 007 713,000 LY L =i
heaeesit e R st Sl Dl S . B e .- —tg —— S —
LR NN PAA S RN ] "V ok AT SR AN ] Sl 1,50 | 8,410 .5504 L0 11 628 6 .00 ‘ ?6‘:'\!“ [A 0 7] i
frmmrre 4 = e e mems o e - - - e v = e = ee—e - -~ = -4 - - - '
-rat 1, %00 =1l UNIF =) ' x_wc I,000 (1,95 9,00 J 1.M%) 00 1,7521°,73) 31¢ 000 79,63 '
[ . N SRS _!_.., - 1. SIS SIS R SUR [
(Y, Tl ADg B O LUl ATION S K MIL = =982,

i

T

)

H

[}

~OTro .
" Lo

S, MATUMIALS A=186 CRCS WCA SPS—=M=11E, . N
1, HARDN $5; MOCKWELL C4Z MAXIMUM, . AN I
. 3 '. "

3, PLATING: “ILVER PLATE PCR AMS 2410 (,0001« 0003 THICK) , * ]
rd []

4, LUARICANT: NON=ORY LUBRICANT UNLESS OTHLRWISE SPECIFILD PARTS SHALL ST 3USPLIED WITH A .‘
NON DRY LUBRICANY SOLUBLE IN THE CLCANER SPCCIFIED 1 MIL=S=73502, ~ - ‘

%, PLUORESCENT PENCTRANT INSPECT FER AMS 2643 EXCEPT OMIT JCENTIFICATION, % --.P R
§, LOCKING TORQUL FER MIL=N<2317, ’ _'"L oyt
R

7. BCARING BQUARENESS: BTARING SUNFACE YO BE SOUART WITH PITCH DiamMETER WITHIN “x” 2 1., ¢ ;l : i

WHEN CHECKED AT A POINT MIBWAY BETWEEN THE O,D, AND 1,0, OF THE BEARING SURFACL, . 5 %
.t »
0. SURFACE YEXTURE: ASA 848, ), UNLESS OTHEAWISE SPECIFICD THE SURFACE TEXTURE SHALL -NOT lj § f
EXCEED 123 MICROINCNE S, i . 1
-
N

?, DIMENE:ONS TO BC MET PRIOR TO LUSRICATION, DIMINSIONS N INCHLS UNLESS OTNEWI.‘ .P!C!Fl!ﬂ.
0, PART NUMBER; PARY NUMBER CONSISTS OF BASIC PART NUMBER ."’0 rLUS DA'R nUMBER,
IMMIth 110 =14a14 87514 UWIUT =28 NUT, A=206 MATC RIAL JHILVER PLATED,

of

. eeeme—— - T e 1

q 72— .

10?,&-\.\ (-. Dﬁ\(w?v:—‘ ;

g v wmmeme

TOLEaANCES ¢ ) UNLELS OTHE®w $T MOTED -
STANOARCS AND BSECIFICATIONS | TiVAL ooy P J K. 0ar¢satresy |
NUTS s A eceomtveer i
MIL-N-25027 SELF-LOCKING, EXTERNAI. WRENCHING, [oarmecs
{ 200 KS1, A 288,

'}
Voo wowe Pa Fe o e =t = APPL ICATIONS . 1170 [N

.




" v o

T ]

® wumonnmwm. 3111-4019 « 04
‘ £’ [ lCtm».asomumam 738

Report No. 5920 - Reviged 4/27/78

P el ]

OF FOonR oY
> [] - - \a
r' P -0 CAIP e ¥
Wiy ' . . - MAR, mmnnnor tnlnm
/ 7 . - o v epe
1 {-d f\ . -LENATN tomm r‘wu\(
[} .- s THAL LD PiTCH ™

) EXCLLE 2 TRRLAD PITENEY

L- ) I A }‘ |"" - - - IRCLUDING CridM?ER

s \_
R F =34 THRLAD PR
18 1420 e wu-s-un MA LGS OId
gm.\.. BE.COINN LESY
ASLRE

’ el

- PART NuubIR i &3:"': e v O
wiﬁ mom Q’:‘ous |%u°s_t¥ ™ CURVED, FLAY OR ANQULAR
A ko, SPACEO AL SHOWN BOTION' CANONAL
or}nmmo MAX. BALAX OUTSIDZ EOCLS
. .&.1
R $A0IC PART KO OSSCAIPYICN ¢
) MO UI=4019 DAILLED MIAD CIOTION A-R
7 MO HI=4CR0 UNCRILLED NZAD

MATERIAL) NION STRENQTH CORROSION RRSISTANT ALLOY, HP”N, PER ANSST S,

HEAT JAZATMEXTs 240,000 T0 278,000 281 uum’i“i”rﬁuu STRINGTH AND
$32,000 P! MINMUM ULTIMATE SHZAR STAZNGTH, .

FM8H PARKYATE PIR MiL8-3002,

nagyuuuuncmwnom MC11L 2217
PIAST TWO 0178 OF DASH NO, INACATE KCMINAL DIAMETER AND THAZAD 32T (TACG 0, L EC 3] VEE
[ )

$XCOND TVA IGITS OF DABK NO, INSICATZ QRIP AnD LENQTH (TAJLE 1D,

EXTIRNAL WALNCHING BOLY TN 1 1975
Q) 19 % ONILLRD HQAD ==t LoNCMINAL DIAMETER .2300 AND

O 100 UMD HAD e 30O VA THRERD S. P. S WiESitn,

' ENGR. DEPT.

; CONCINTRICITY, \‘ARD "g% DIAMETERS WITHIN "X* TIA, WALNCHING SUAPACE AND BOOY
‘l 30 TIR, *3" Dla AND THACAD P,D. WITIIN "Y" TIR,

D 1 e \m;. w- Y0 SHANX AT A BOINT OK THE SHANK ONE BOLY DIAMETER
" PAOM BRAMNG SURPACE OF HEAD.

9, IHANK STRAIGHONBSS) WiThIN L0009 INCI PER INCI CF BOLT LENGTH,
4. SURPACE ROUGHNRES: “B° DIAMRTUR, MEAD MANNQ SURPACE, AND THREAD FLANKS AND
22 ‘N“"::l.cl‘ﬂﬂcﬂl‘, THER SURFACAS 129 MICACIACHE] . -
'8 "’é é é-)

B. CRLAK SHARP RDORS 040 2,009 X 45* UNLESS OTHERWISE SPLEIMLS,
6, 106N PLUCARSCENT PENETRANT INIFRCY PER MiL<I-LBbS.

7. GhiP LENOTH) ”0\\ UNDEASION OF HLAD TN END OF CYLINDRICAL PONTION OF SHANK.
CHIP IN L OOPY INCIHINGAENENTS,

»
sl

’

. REPRASNCE OIMENSIOND ANK FOH UEVIUN PINPUSLY UNIY AND ARL NUT Al INSECCIION RLUUIEMENY

é
g
&
)

muu g}- 00\ 1.00

L"v—.-A
TOLAAKCEY, C50PT A MOTED ™ ""’ﬁﬁh%" ? m o;g..:ongs_g; gg:::::s;.:ﬁ-g: muogst;;
¢

i‘*‘r "'.‘ ‘.l

My al ctows X33 e |
L *fe APALR DIVIAON g
akad bl bl NORTIL AMBAIEAN RICKWPLE COPORATION L STANDARD PART
mx " ""‘" ‘ ‘-.‘-". me-lvﬂth-ﬂ'.ﬂumm '
¢ R ITTREA . =54 MD ki~ 40I9 AND
) el it BOLT - TINSION, 12 POINT EXTEANAL -+ MDII-4020 ‘
;oA aR wn;ncmno.mm MIN TENIILE, P30F . - -1

e i ———— e &




PR

O IR S TP & R B B e - ' .
I T I
». 'Report No. 5920 -.Re\}ise '4/'7/78 !
| P ! ! '
i I I B |
o c ' | ORIGINAL .ﬁ.,;.ysl.l ’
P CLor v I, OF POOR QUit! |
. ; o
' . ] '. , i . .
, .v [ v i I } ’ ; , . . ' |
i ' K b el C ooty Do l‘
- e e -k - A~y . +ﬁ’ o H . . -4 y - .---—-.-.— - .
S ! LA I A ]i O ! b 0..t :I] -1" ] ..‘ (] M}.' T ow . 'OT R p
i | weA Ly A Rl R M I 14 1000t t '
oo T T e ;,".}'"""'T-u“ - ,H At B EA S s cimsls w8 mrsr S I |
i' P T j,/ ¥ LE.)., i )H‘ ' PO EPUY B .4 -Q_J ' I.‘- RN :, n.s. :»‘u‘ :i'"‘" ;
1 b Tpmy gy W2l - ) P , 1 ot .04l '
g .ah q 'g ';rh | f”» 2 {‘: S‘! Y ‘ a0 | ook [o t;" o |
: - R Ky ol 375 , g el
TR et B R R L B g B E O Rt el
v e ,;Pzd Zfz. 3 I ,;’gg 197 |liaos | 297|070} 070 | tors | 930 | F
i . TEITEI0 TIA0T a1 sl T aea T 32040 070 Yo |- los3 1} -057 ;
o ‘,n ‘ fpm Y20 Fn n2n | lasco| ‘83| ikay | }2381 | 404 4—.:201“.310‘. -07Q | | 1083 g;;.— |
e == 0ss TS| ] T ees : 8 Mkt - " '
foax | o0 Efgl 4933 3{3 B0 | [2%4) | -3 .mo,._l_ou 070 | 1098 ] o4 |
1. gna rr,zsm 22_{ ;2},’5 [ﬁr 738 T 1287 | e00]] . aa0'f 094 | 070 | lus } 973
toxx | o250t VhesTT 8330 oty T 81T [Taa7 [ e ' onn | b 73 1!
C|-texx | p2se s~ l§85 .6110 o 5001l 3| -4v% ] 098 | . 1| 003 |
125 | 749 .93 BN
Joraxx | psoo-rs, l,?,u, ; fy.0s9f 330 | 380 | .sos)| 570 .094 | 070 | frsz i g3 | ;
N —e— —r: . s ’
v 1 ‘ P T ! Co o o :
TR | usgd(counnum C . v S R :
+ ! o JOUYTHRYE YORSICE D R
pass |1 ¥ v - W | X -V|: ..sntnc?n : e IR A g
|Kq 1}, REF REF | . P howms ol b 5
I . L o N *
{ %_;gi 390 |04l 071 o0st | .bos ! 3200 L ot .
-t oo g v vy 4 -1 . . )
: :Ym'{! .498 dm R .oosI ooa Loy w00 | | Hi e
.|_'_!___ JIOR A et . ] NN
tcux] s92 | .03 ;ﬁﬂ _.{oa@ o0ag [ .[aar00 | | L
D e .- -go b p— - " + ; ) l‘! 1
doxxi| jem [lob| [, 18] bos! | opyd | [zpe00 | A
TSGR S S [ soh ™ T b ‘ ke BRI A R T
-wxxj -78% {1lop. || B 49 ..0bdg | |[3090¢ ~ e T
I b e T )p""“ N . ) RN '
Clvazxi | Jupst | s b[ 010 boo 1,‘41"“ } || T b
R ket o T iy ‘f o ! 'i‘. (I N '
ol-paxx® | 9m2 1! 0¥ Q ‘fl‘nx i ons 52200 o A N L
Pl e e peheee — e emd —4'— - — -4 - . ' i o
Hpoxx” 1097 o | ., 012 Foe' 63400 , ;| 1o ‘!"ﬁi b,
: 1, T
M ; 9 mry \ LI HEE IR
s .2 .08 W o.oxs 006 25000 . ) Pt .o
;b:““ ! 351 i 1 _-928 ] 'r : i : - o
’ v { b + , . R [ ".5; ' ,..;..._':‘
! ,qcstcnpraou\Ac.t INFGRMATION, T - 1 v ot o VoLt ' :'!'15' ’::
nl "N, MUESTNOLTS ANE DLIICRED io ccuseomuuom-:oqruuu. i _l~'- T T ' A I
31 Y IR N IR A R S R N N I
. c . : ¢ { ' ' ." ] S ) . e ? . + :'
SH RN S IR E T P I E IUEE AP P R A B
' ' . ) . . . '
' o, b : AN . A Vet L
' ‘! [ ! ",! : "J 'I- ! ' ." . A : N '.'5 t
SN I AR (R R 1 PR : | %
f ! . TR o . . i
A RO [ i SR A 1 i Pl L it
K1 | POTY YR AN BRI T DR SRT i R U
ol ":x' R | SRR IR T SRR
s t ! o B '_| |l ! o) : | N “ R l'!.:
VT ANGLS, DET AS WTID LI TANY 040 {4 001 =01 1501 THRY 790, 4,008 -.001 | COFE IDENT NO
s IxX e a3 ‘°J“"“"§°" ol iq\d.;w.vogz;‘-_m\. 781 AU 1 O +1007~ GO |, o
mazs ﬂ” oeows .m-:.ﬁmL (AU By 1s BTG VRV et pow- Sy G393
)8 b -y
Ol B Vo ‘ ll IR 1 t L I
OR £Y | W manLey ' fiadeczg i r IpION L , N
St S5 S - —— ki amirfc k WL CORPOA LION STA DARD PART
LAY . F i T YR ”-u-ﬁm e # O V.00
Sk LRI ST + ' I=4019 AND -
. . -
. P ]
appO ) - Co ! NS X BOL.T-TE, snop,lz POINT CxTCFNAL : “ 1-4020 ,
90 | — T F WRENCIHING, ﬁooqsu MIN TENSILE, T50F T ——



n et o e e R Y e

LT

¢ e v a—
. —

Report No. 5920 - Revised 4/27/78

Okic.. .. -
OF POCT Qi

CLENGHE ¢ OLS

LN DAL TLR DA R NIET R

Y ; e - va M PR Y B G AR I ¢ S .(' s
WM T I Y YD T L IRy o i wer bowe2e | ease | Lo
: K ; YRR TV I Sy Y '.‘1 o T\ WERIEEII
v 0 4 A Y Y O A T R I P O P L AL LI
e ot Y T B I VI N T SVRRPRTY S ST RN WY X SRR
I N K R B W PP 2 (W IS VoI T SR O 13 IR0
P! azs | ams 10237 P07 | 2297 [(1Ta10 T as00 | 176077 ] 17722°| 1,800
NN ._:_'.o { 1.340 1.218 1:)_31 1 €22 3.%35 | 1.6, v 732 | r1ear | 2018
Dot T [ 1 Zes {1l rasT Ty sar | veds [ YT D5 [T1§72 1720140
b .‘ooo 1390 (Ve | 1532 | v.e72) a.rs | 1ers ! aoo2 | 2,097 | 2.26%
' i, 1025 | 198 116237 1707 | TN 9977 V910717 2l008 | 70007 1":.3'{2 2.390
} i vaso, bedo | 17745 | 1832 \_922 2,035 | enzs 2232 | 2340 | 2518
oot iars T es T1873 [ 1.997 | 2047 2.060 | 2200 | 2357 | 2.992 | 2.640 )
L w21y 190 § 1490 11998 | 2.082 | 2.172] 2.285 | 2.375 1 2.482 | 2397 | 2.76»
P RY ws 2123 | 2.207 ) ¢2.297] 2.410 | 2.500 | 2,607 | 2.722 | 2.8
RCEIBEL) 2,249 | 2332 z 1220 2,835 | 2.625]2.232 | 2.847 | 3.019
Taxw. | 1.87% 2373 [ 2.457 | 2.547] 2.600 | 2,750 { 2087 [ 2.972 | 3 140
-X352 | 2.000 2498 | 2.582 | 2.672) 2.788 | 2.875 | 2.982 | 3.097 | 3.26%
X434 ] 2.12% 2623 | 2.707 | 27971 2910 | 3.000 | Y107 | 3.222 | 3.390
a6} 2,290 2.832 | 2.922]3.03 | 3.125|3.232 | 8.347 | 3 s1%
.xx38 1 72.319 7957 | 5.097] 3.0607] 3.250 [ 3957 | 3.472 | 3.640
-XX40 ) 2.800 3.082 | 3.172 3.285, | 3.373 | 3.482 | 3.897 | 3.7s5
-xxes | 2.629 ’ 32973410 | 3.500 | 3.607 | 3.722 | O 390
-x%44 | 2,750 . 3.422] 3.935,| 3.623 | 3.7132 | 3.847 | acis
—.xxes | 27878 “T5 37| V660 | 3.950 | 3.857 | 3.9/2 | 4.140 ]
-Xx48 | 3.000 3.672| 3.708 | 3.875 | 3.982 | 4.097 | 4268
XX50 | 3.429 3.910 | 4.000 1] 4.107 | 4.222° ] 4.399
-xx32 | 3.250 4038 | a12s ] 4232 | «347 ] a1y
.xxs4| 3.373 4.160 | 4.250 | 4.357 | 4.472 | 4 640
-xx56 | 3.500 4233 | 4378 | 4.482 | 4.5 4.705
-xxs3 | 3.62% 2.500 | 4.607 | 472271 aaw0
* 0| 3.7%0 ) 4625 | a.732 | agar | sms.
Sxxe2 | 3.873 a.750 [ 4.657 | 4.972 | $.190
-xx64 | 4.000 | _|anrs]|avs2 | 5097 5.26%
2xes| 4.129 ' 4.000 | 5.107 | %.222 | s.3%0
oxxeala2s0 | N b 11| %25 is2v | 530 5518
XX70] 4.37% | $.750 | '5.3% Va3, Ty #do
| xx12| 4.500 | ‘ . 9.3/9 | 5.462 | 5.397 | 8.:hy
xx74] 4628 | 5.900 | 5.607 | $.722 | %.40¢
_oxxre| 4.0 | - 1 5023 [ 573 | s.047 | woun
XX78| 4.375 0,257 [3ney {78972 T % 1au
«Xx801 3.000 §.825) 5972 | 6.042 | 6 2n
h—-——j —— -—— o fom wr = e — - wh o * doan @ v - -r- .- - .
-xx82] $5.129 6.000 [6.107 | o 21 0,30 )
ooxxpal os2se ] b L]l 625 a3z 6N 4 ’
~Xx86] 9.379 ©.2% | 6.5%7 | .42 a0
| aumg] 8500 ] L 1. ] _]earvana f et e
xx90 ] v.628 " 6.%0 ! 6607 |™06. 122 .. 290 4
e L 0r S IR TLL IR VU P . .. ) 60251 6772 1 6847 1 7 o1 L
X29a| 9.875. .0 ] 6u8? § vt | 210 e
2x7n | 6.000 ("7

SLE "A0111-40 53 AND 1'DLLL-40)),
NOI 1AL CRIP LE%. TH PLUS T ROF" LONALS 0L LENGINE QLS.

6.8479 1 6902 1.09¢ L [ 2NPRN F

"1 EATACOIAFL GKIP LEM. 1115 1 .0h2 % INCHLIILUTS GI LONLY R CRIP 1 LNLINS IN 00

S INChLIL oy A0
BE OBTAINLD GY SPECINYING SICNH ICANT DA RULLRS

L LORLIIE L NG LONLUN THAN 4 8., i o

- e +o

WS,

INIRANCES, [XCEPT AS NOTED
ANGLES 230 DECMAS X = &0

101 ERANCES ON O1TTHRU O . ¢ 0N ~ 001 50 THAY
HOLES NOTF

08 TNY L0 W2 - a1 751 Tniky

Ty o A0 HAY 22 ¢ OYY - 001 1 ON) THAY

2004 0 = Gt | CuDE v EnT MY
1 600: +.00/ 001

1= 5010 20 THRU 50N 4 L0a = 001 4030. 010 =t 03953
OR BY | w.nerLev 4-4-74 LPACE OIVISION b o ,
NORTH AMERICAN R(LE A2 L CORPOAATION OTAN DARD PF\RT
m‘ OV 12016 UMY @ KB WanINARS * U~ NE?, (s TORRG det -
53 ) MDIN-1019 AND
APPD E BOLT - TENSION, 12 POINT L XTERNAL i% MDIll- 4020
wWR o L H ’:'; Y r 3 ems — AT ¥ o ww vy
APPD { NCHING , 290 KS 1 MIN TUNILL, 7 »Or“"‘" A
e -

- -—’ - e W



;‘/H Report No. 5920A- Reviseei 4/27/78
——— o. = I
— ¢ —= | ORI e g ne
f— W " | OF POGR GuALITY s

=73 STANDARD PRESSED 37 EEL CO ) [weer 1 or y

4 -
Ny
)

LY — \ —
. -\
TOOLS MARXS AND DISTORTION COUNTER SINK, COUNTERBORE ;

AT T NUT D oK OR RADIUS RELIEF 10 THREAD WITKIN
rz:u?%i;?‘;snunsglsa:g LOCKING THE LIMITS OF ‘P’ DIAMETER
[(}) @ @
DASH THREAD A e c ] (] s v w x Y AXIAL WEIGHT
NO size Max ! min | i | max ] max | o STRENGTH| MAXIMUM
VA T ) LBS. MIN LB—S, 100
S1232 | . 170-3 UNOF=38 369 | .3z9| . 277| .265 | .220 088 | .o08 ) .25t | 293 ] 002 ]| o002 8,850 3N
b— ——— , — = == e
~a:f 2R UNIF-3G ] 475 43| . 9a7[ 355 [ . 260 121 | 015 | .3D) 308 | 002 co2| 10,50 3
=5 313-24 UNJF-30 | 585 $a3] 4190 avs| 342 159 | 019 | 37 Y| 003 002{ 16,60 1y
s 375-24 UNJF-30 T 92 | ees|  ss1] sos | 408 200 | o3 | ,soxl  an2] o002 0211 2439 226
<10 4)7-20 UNJF-3D | 830 JEO ext] s3] 473 | 2§ ey | o seq ] sr3l _om ccil_ 33 a0 338
=30 | sw-ounge-dn ] ere ] soel  yey) ers | sy f (res | eeo ©oexp ] el ent el gqeca t_ac ]
e Ty gnNgEmeJa v ] ery [ nee] 60 T sar {_ AT | 0w | ass ] a1 ] o] eeal s6ch 2.2
=1018 | 62318 UNJF-3D 11 198 | 1 tas ) 97| 873|660 | .52 | oar | sve | 833 ] oos | Lo03) 70 60D 2 %2
| STi0u [ 150t UNOF=IU [V &35 | 1373 1 0591 013 ] 783 1 _.a\y ¢8| 940 923} oy 0¢3] 103 00 1515
1414 £73-14 UNJF-3B |} 643 | 1 393] 1) 27101, 185 910 1k JO0na TV Y | v vie g 03 (<D B BN U1K o T B2 W &
=VuT2 [V Csi=tZ UNJF-D [T A0 | 1 R3] T 414] 1,385 [1 033|616 09r_l1 291 | v 2w ] coa_p ecgl ypacec) 31 40
| CAERESNS (NI IS (5] PRI SFIES) NCELY KOCYIR I A7 TN IOV XY SOUECH BCEUNN B2 BN TYWY I I TS
=2012 [t Jm-i2UNOF-3u 2 s 2304 v sa2f1 730 J1 Jes 882 | 128 Jrea ] vena] cor €3] 2 aco 6.0

. (1) THREADS = BEFORE LUBRICATION PSR MIL-5-8379
(2) BEARING SQUARENESS - DEARING SURIACE TO BE SQUARE WiTH PITCH DIAMETER WITHIN X T.1.H. WHEN CHECKCD
’ AT A POINT MIDWAY BETWEEN THE 0.0. AND 1.0, OF THE BEARING SURFACE,
3) U .RING FLATNESS = BEARING SURFACE TO BE FLAT TO COMNCAVE WITHIN Y T.1.R. WHEN CHECKED IN ACCORDANCE
WITH SPS-G~101)

MATERIAL - MP 35N PER AN §782 '

PLATING - SILVER PLATE PER AMS2410, THICKNESS .0002-,0006 OR CADMIUM PLATE PER GO-P-A1S, TYPE NI CLASS2. (D)
LUBRICANT - MOLYBL<NUM DISULFIDE DRY FILM LUBRICANT ON SILVER PLATE ONLY é

FLUORESECENT PENETRANT INSPECT PER SPS-1-700, LEVEL Il

LOCKING YTORGUE PEN SPECIFICATION SPS-E-$13

BREAK SHARP CORNERS .

DINMENSIONS IN INCHES UNLESS SPECIFIED OTHZRWISE. DIMENSIONS TO BE MET PRIOR TO LUBRICATION

PERFORMAMCE - SEE PROCUREMENT SPECIFICATION .

DESIGN AND U3AGE LIMITATIONS = THESE NUTS ARE DESIGNED TO DEVELOP THE TENSILE STRENGTH OF BOLTS AND SCREWS WITH AN
ULTIMATE TENSILE STRENGTH OF 260 KSI BASED ON A CROSS SECTIONAL AREA AT THE BASIC PITCH DIAMETER, THESE NUTS ARE
DESIGNED TO BE USED WITH COMPANION BOLT PIRODUCED TO DWG. SPS-B.70313

PARY NUMBER - .

EWNMIE C - 420 =.230-20 NUT, CADMIUM PLATED .
DASH NUMBER FROM TABULATION DESIGNATING NOM, THREAD SIZE AND PITCH,

BASIC PART NUMBER, .

THIS STANDARD TAXES PRECEDENCE OVER DOCUMENTS REFERENCED HEREIN, REFERENCED DOCUMENTS SHALL BE OF THF, ISSUE IN
EFFECT ON DATE OF INVITATION FOR BiD. PART NUMBERS OTHER THAN LISTED ON THIS DRAWING SHALL NOT BE USED,

" C'DESIGNATES TYPEII CADMIUM PLATING, NO LETTER DESIGNATES SILVER PLATING WITH DRY FILM LUBRICANT, @

W @ s Mt (€) 6-9-0 (@) 69-01-7 | NOSIAIYM

: -
% M . ;
.o : * INDICATES LATEST CHANGE IR :
TOLERANCER ¢ 010 ' AND o 2%  UNLESIOTWERWISE NOTED er ettt = ST STANDARD J
STANDARDS AND S ECIFICATIONS vy i oRAMN BY OATE 7.79 |
’ * NUT, PLEXLOC, DOUBLE HEXAGON, SELF-LOCKING _ APPROVED J~ﬁ DATE $di8
- - Sre-r-an - " . [ranreemin - .
~ . MP IS N, 700°F, 200 XS} .
FEO. IDENT. COOL NO. 3T —- | 1777 ; soR UsE WiTH MA-8-MT0 EXTEANAL THREASS () . -4 V.Y R ~ne

f BL,:*-@;.‘



